\\hgoﬁrmhﬁ s

B e

= B B B £ X #

iil: SEREPHREIESECHELN
B 04-26686956 04-26686908
{4H: 04-26688228

Hi5: fht@fhttw  &FHE: www.fhttw

BEEMER/ Guang Dong

Mdt: RITHERERKEEE
R 54E

R 0755-23344659

{#H: 0755-23342973

ZFi%. 18028431587 18928431697

LB/ Zhe jiang

Hihit: #T b T AL EE B R 2R 755
BAEA3E

TEE: 0571-86699905

{§E. 0571-86699905

EME s X/USA /Canada
2658 Industrial Blvd.

Bethel Park, PA 15689-2255, USA
phone : (+1) 412/8356556

fax : (+1) 412/8356558

E-mail : fht@fht-usa.com

2 ¥4 KT E B E 5 E m

Al IR

e
HHEDENBEREES Ef_ﬁ

/
=

BN ESERETTERARESRIESR
HERMAEE. 400-8040-668
EEmCAD, 3D, R~ T8 www.thttw

k. ElREE

BERYRE(LE)FRAFE

BEEILEEE TXEEA777H

Tra: 021-39948832 39948836 13701956498

{EH. 021-39948836

S BRI 400-8040-668
2EEHFQQ: 4008040668
48, tht@ftht.tw  AfE: www.fhttw

FEIL P FE R/ North China

Hotlt: EEHET BERFREN SE R

35E1E1 B L2004 %
E5: 0531-86956362
{52 0531-86956362
F. 15680738188

EEMER/ Fujian

ek fEEAREPITHEEILAIER
FE—E509%

Mih: 0592-6066458

{§H: 0592-6066423

f8E/Germany

Marco Stlihrenberg

1356 Miinster

phone : (+49) 159-28535599
ax : (+49) 7825-847-26-2288
fht@fht-germany.com

XEWER/Tian jin

Miit: XiETEAREERAEH2E
618116818198

Bah: 022-87809695

{$HE:. 022-87809695

Fik. 15620087332

HZ/ Japan

PAERFEE T T183-0005

R RFPHERET6 T B2E38
phone : (042) 402-1368

ax : (042) 402-1369

E-mail : fht@fht-japan.co.jp

B/ Korea

5-6606, Ace Hitech City

58-16 Mullae-Dong 2-Ga,
Youngdeungpo-Ku, Seoul, Korea,
phone:(+82) 2-3569-2255

fax: (+82) 2-3569-2266

E-mail : fht@fht-korea.com

NSED () RREsgR 4D

Pl R 3 SR A

Planetary Reducers

EEmAl S/ BEEHMRER

HEETRE(LE)FGRR
a8 & # # & X 4

|



T

//_}ﬁﬁzﬁfl\ Company Introduction

EilgEaE AEENISER TRFKE
B, TRE{C-RAEBHBEE Z+LFHEiRHIEH
ERARETAEE, T TREI3E KIL1TE R #EES
EED, FFEEAANDKATEHSEBUEE
ITEERBEE R ERSRTTREETE, E
ERNRIEZ R EFEEEMR (5~8arcmin) .
KEE (60dAB) . BRE (>=95% ) Z=X%F
., HAUEREEARIMAEEARSE. &
EHE, SRETERERAFGRRER. 5%
. EnSEEFEE, REAIE., FeLeRe
IEFEfRFRE, BEFEHENEMYE |, FRFREENES
HOEREERERRBNSE, BRAERFR,
B FE B AR B A PE n B RS

ITHRFREIQIFL AT LE-SHEERETER
iHeg, BEEBEERE (1~3arcmin ) IFEER, #FH
BERVEEFRERMBARSY, ERRFNEEHBE
2, RYBEENMHRERNERTELR, Em
FEZERT AW (SEPIHK ) , BOLiEIs, AT
ZI, ERMRAAMER, BEMOMEOBIE, BZE
i, RAREEK, HIrEHREaDLEERSR
!

T P HAFE AR KPR sz ARAE BT, FHEEATH
5, BA-HEEEERE ( Be ) BRAR, ERX
EEmET, BEFRARSEEERLRGENET, FLR
KEEMIH, LEBIEERMEmMIRYTEIRNBEMLIT
EFBERAGEE, BREESRAEENTIEIOLE
AR#5

gii AT BER

PR R HRN R
HHER B eakEREEE M
BEREI MBS ERE -
H R E P FESHERT e

B 3 355 I HF

e
L4

-
=
o
o
F—
o
—
o
==
D

S, P
—
=

T
o
<D
—
—
D>
12

g

g

& KON SRl |
Ry
) ‘ '\
|
m

—

™




EE o B &K CONTENTS

VRB

RABBUITEREH

VRL

SRBRTEREH

PAB

SEESNETER R

PAR

BRIGBITE/REK

PLF

RERITERRK

PLE

IRERT RS

PAD

SR B EMRR D

PADR

BASREBARRKLD

VRB series

VRL series

PAB series

PAR series

PLF series

PLE series

PAD series

PADR series

2= oo B EK CONTENTS

PAGES

PAF

RERITEREH

PAF series

VRS

RAERBEBITEREE

PFR

ﬁ%ﬁ@i?gmﬁﬁ PFR series

PER

E%ﬁ@iﬁgﬁﬁ% PER series

VRSF

*ﬁ@figﬁﬁ% VRSF series
ZR

E@E%i@ﬁﬁ ZR series
ZK

mpay ) R 7K series

DG

%ﬁ@iﬁ%ﬁﬁ% DG series




% E B

m ® ® @ & [ @ ® @ &
S ® E @ ® ® ® @ ® ole & ®
..m [ BN BN [ @ [ ] e @ ® e ° [ BN [ o
e W.... @ @ @ L BN @ [ BN | BN e @ ® @
m .m.... @ @& ® e ® @ [ BN [ BN BN | e o ® L]
_m — m...... @ ® e o e @ [ BIE [ BN BN [ BN L @
o
.-m ..m m.......... e ® e e e o | BN BN | BN BN J ® @
&) "
L) & Yie|le | ofe|eoo|/o|0o 0o oo oo ®| 0 oo (oo ® |
[,
Smﬁm m.......... e @ ®|@® @ @ [ BN BN ) [ BN BN BN BN ®|@®
i A
w._w.%_.m m.......... e o e @ e @ [ BN BN [ BN BN BN BE ] e| @
@
Iwmmmw ml......... ® @O L N BN NN BN BN BE SN NN HE BN BE NN BN EE ®|®
emp M.......... [ N LM BN BN B BE BN BN BN BN BE BE BE BN BN ¢|®
R._.Enum.. =
.—._R__\mﬁu..:” m................................
X @
%Jﬂaw W................................
=0
A%///ﬁ%% %C....l.....l.....l..............
m%m M................................
i o
“\%%% m.............. L NN BN BN EE NE BN BN NN SN BE BN BN BN BN BE BN BN
E
%ﬁm ¥le|g|8|8/8|8|8|8|8|%|8|8|8|8|%(8|%|23 8|8|2|2|§[8|3|8|8 2|5 |8|§|8
il &
) ©
ﬁm 2D m| 5 "B 2 |z | & 3 2 |2]| 2 |3 E (3| B g |2 |2
" ®l2 |] |8 |8 |® 5 2 8| & |8 & [3]| o R |2 |
oy Frarr IR PRrar N &
g2, QY O CY €3 CXOY €Y D) ey ey e 2D ey O) Oy ®
® oT CY CXY CXY Y £ Py O &wm\w”iumtw mwmtumma s vyuh g
oo oY% 0o e ~
_ — “ m — .
W o Y YO L, 00N O3 O3 oy ory oy TR Oy 2 2
I R A TP I A I TP A T I S, Y at
B py #3 fy T oy s py vy T2 V2 U o5 vy L amd g
. \ i ¥ P J " J i [ J £ 1 ﬁw_l
_ — m “ — X
o €3 €3 o9 py 02 €20, K2R Y, B &
Sl eriey Ll S ey onaes Sive ey eried ey ey €| ol 8
22 ¢y ey YT T2 myeyy £y Y 7| gyns “a
; Pt i m L
B 0on0RRARe0 000000
3 ¢y 0 ey U oyipnidy ¢ €O YOO OY OY €Y ) 9=
; ; ; : : ; : i ; ; : “ : EERY]
_ : : : i 4 B i : : .
)OO GOnen oo llo 5
iz oy oy £ €Y O €2 O € syion €2 onaivy py L) oy 2 o2
il b bddl ik Ha il I <\2 412 i Ml bdd b i i ] =
e e T e . T S i
m m "y m | | m m m Kk
55 €3I YOO »mmmwmwummwmme&wm«wm«wmx,mmw &
B OOOOO0OnaO0 3000000 w o iE
Q B EE
2, €2 €3 €32 €3 €2 £ £Y FY £y L L0y L ) n K EE
- r2 03 0y ¢ T3 €3 A BE & B i e i
£l 02 03 oy ey eried ey ey ey ey ey T2 0 oy O oy O ek
ﬂl;t F ¥ " i N I P N "a."* > W F "‘ P ¥ | (48] mﬁ m&
X OOy nnnnnn 00O T " F
m ; ; : m i _ m _ ()]
| m “_ | m ! | g -
| ! ” o L. c IS
m: o0 m;: v 0O g O O wn w wn -
H H H . H i H H a
3 = £ £/ g2 £ g g8 &d =2 % K & c I
3 | — BTN C M
; i Y e ol
T2amdOgawemenddj 5 B
T o

NERER

BBELL A ER D, ERRIFSMHEEAR,

2 MR R AN RERRREA—RER,

P.S: Ilt" @ 'SESR R ALEM Z R LE .

1

Our programme at a glance.
You no longer need to perform time-consuming searches of detailed information: Utilise our

faster:

Achieve your goal

easy-to-use quick selection to select the products you need. In this overview you will find a direct

comparison of the key features of our products.



B

EE BT Product Technology

FHTZINTER ki #HE — B2 EEMZMEE Two multinational patents has been obtained on the lubrication structure of

8, EREAREEhGE, BRREEURYH.
BN . BRETESRERMEESNHMEES.
BF: 2. BmEE, BRERENEES,

FHT series planetary reducers to ensure the highest output value.
Patent 1: To reduce axial thrust bearing from the running of gears.
Patent 2:To reduce frictional resistance and noise leve

| S—
=

FIFANSYSE AR A% B EHTHERITS
i, FRMEEEFEERSEEE , LURRE
ERBSHPEINRE  WMNERROER
S,

BHTREERBAI (WEHE ) 0EER
it AEMRKBIES T EER , R
ERI—RNEN |, DI RIRE A0 5N 10
¥EEL.

WESHHRERA—ALEH  RBKE
W, ERBATE | NTTIRGRBIEE
E. —AARIHRERIEFRFE AR T —R %
NIz SRERR. REXSLEEE
HEAERNREENRE.

PABZ%! 945l

ERHNRBARGSN  SK-Eiteit
B, \TiRERAENT BRI hEE.

BAMSUREERB—BHLRIT , TR

XMFRDTE |, IAEFENRN , B RRE
HISEDH5E , BRAOLEEBMIERNITIE | 5L
HmEEFERNHOEE.

| =R R T

HSHEREISIRE. VIRA. YRSE ST AT O E Rz A,

M ARTEM SRANER)

HLARRYIE] IHLEAA

KFEEXTHERA

FREIELEEA

RIS )




=R LIEAL=EA

FHEEREEL

EIRIEB RO EEE

PRECISION PLANETARY REDUCERS
RS 17 22 il ER ik

1558

1 A i RIR IERS L ia it B4,

2ERE

HEETF35. EABRE,

3.5, BHAE

& FIEEEESUETRENR, AKES T RITEFMIALE,
4558, EEH

T LEFIHRE FER—ZE5EE,

5. T B RS

ERASHE, RB4HMHARHTE, AU EREETR.
C.AEETE
EEREWHRESTHRATE, REEFERE,

1.Quiet operation
Helical gears contribute to reduce vibration and noise.
2. High precision
Standard backlash is 3 arc—min, ideal for precision
control.

3. High rigidity & forque
High rigidity & high torque were achived by uncaged
needle roller bearings.

4. Adapler—bushing connection
Can be attached to any motor all over the world.

5 No grease leakage
Perfect solution using high viscosity anti-separation
grease.

6.Maintenance—free
No need to replace the grease for the life of the unit.
Can be attached in any position.

A 59122 2 /Indication of Model Numbers

VRB %J3%I/VRB Type

ICEE - B - EEEN - EGEN

_______________________________

_______________________________

T L e H AR i B 1 HUEE/M :
i : pi) ||'| . 19 ! =

| =1ype (11 Output Shaft Keyway | | wMolor Type

| VRBO042, VRBO60, VRB090, VRB115 | | ! S1: Hbdh, M £ BiEHIER R ER

! VRB142, VRB180, VRB220 i

. (Solid Output Shaft No Keyway) |

‘ S2. jEifEg, Al

i Standard (Keyway)
S3: WHAT

i QOutput for holes

1

T

| itk Ratio

Bfj: 3, 4,5, 6,7, 8, 9, 10 :

| & 15, 20, 25, 30, 35, 40, 45, 50, :
60, 70, 80, 90, 100 :

....................................................

L % 4 Backlash Class

: PO: =% B/ Micro Backlash PO :
: P1. 5%/ Precision Backlash P1
i P2. {#E#{5FE/Standard Backlash P2 !

BIEEE . VRB090-100-S2-P1/Panasonic MSMJ 082S1A

—-06- www.fht.tw



VRB :J',E R MR E 1 Specification Table

T T MODEL: VRB

1140
4 19 50 140 290 542 1050 1700 BE 1-Stage
5 22 60 160 330 650 1200 2000 .
1 6 20 55 150 310 600 1100 1900 m®tk: 3, 4, 5, 6, 7, 8, 9, 10
7 19 50 140 300 550 1100 1800
8 17 45 120 260 500 1000 1600
9 14 40 100 230 450 900 1500 A =) My ;
R Dimensions:
10 14 40 100 230 450 200 1500 ﬂﬂ/ j.
15 20 55 130 208 342 588 1140 i 18
1
R Hi 7B ToN Nm 20 19 50 140 290 542 1050 1700 ﬁﬁ)\iﬁ Input L4 L7
RlataE e Tkuia 25 20 60 160 330 650 1200 2000 cz2 L1 L3
30 20 55 150 310 600 1100 1900 =
35 19 50 140 300 550 1100 1800 __B1_ 82 i
40 17 45 120 260 500 1000 1600 ()
P F: -
2 45 14 40 100 230 450 900 1500 8| =B 11 & = 1— Gk
50 22 60 160 330 650 1200 2000
60 20 55 150 310 600 1100 1900 L5
70 19 50 140 300 550 1100 1800 bl
80 17 45 120 260 500 1000 1600 2 -
90 14 40 100 230 450 900 1500
100 14 40 100 230 450 900 1500 ”
£k 8 4148 Tonor'! Max Output Torgue Nm 1.2 3~100 3 #EER H 1%6/3Times of Nominal Output Torgue K
5 i A BN wRated Inpul Spead pm e 3-100 5000 5000 4000 4000 3000 3000 2000 Pl
A\ BN e Max Input Speed rpm 1,9 3-100 {0000 10000 8000 8000 6000 6000 4000 2 ﬂ|
1 3~10 <2 <2 <2 <2 <2 <2 <2 WA s1 W 52 WA 53 .

A ESEPO  Micro Backlash PO arcmin o 19100 s ) g < =y = =4 Unif:mm
1 3.10 <d =4 =i =7 <4 =4 <4 VRB042-L1 VRBOGO-L1 VRB090-L1 VRB115-L1 VRB142-L1 VRB180-L1 VRB220-L1

AP / Precision Backlash P1 arcmin 5 12-100 b <8 <6 <6 <6 <B <6 “ 613 $ 16 22 $32 $ 40 455 75

. : 2 50 $80 ¢ 110 $130 $ 160 $180
TR Torsional Rigidity Neaarenan 1A 2 3-100 3 7 14 25 50 145 225 $35 ¢
. D3 $8( $6.35-11) ¢14( ¢11-19) ¢19( ¢16-24) ¢22( $19-35} $24 ( $22-35) $35 ( $35-42) $42 ( $35-55)
1P Mk, 12 3~100

gmmm:m@'m Gk : e i 28 L L A s SR #30 ( $30-50) $50 ( $50-$70) 670 ( $70-4110) $110( $114.3) ¢110( $114.3) 1143 ( $114.3-200) $180 ( ¢114.3-200)

S A Fonie’ | Max Axial Force : -1 350 630 1300 3000 4000 6200 35000 o 050 70 4100 4130 0165 215 250

F 1 Famie? / Max, Axial Force N 1,2 3~100 360 765 16825 3350 4700 7250 25000 B 4034 4-$55 4-§7 4-49 -4 11 4-§13 4- 17

R | Sewice Life hr 1,2 3~100 20000h T 646 ( ¢45-70) 670 ( $70-990) $90 ( $90-145) 145 ( $145-200) 145 ( ¢ 145-200) ¢ 200 [ $200-235) ¢ 215 | $200-235 )

i 3-10 =97% EEER 4-MA(M3-M5 ) 4-M5 (M4-M6)  4-MB (M5-M8)  4-M8 ( M8-M12])  4-M8 ( M8-M12 ) 4-M12 4-M12

R q (EHicieticy % 5 15-100 p— D9 M4X0.7P M5X0.8P M8X1.25P M12X1.75P M16X2P M20X2.5P M20X2.5P

D10 ¢ 42 $60 $87 $114.5 b 142 $ 180 $218
i 1 3-10
BB Weight kg . LA 0.5 1.3 3.3 7.8 15 28 52 446 $65 90 8118 4150 184 $295.5
» 0 L 28 R0 198 e e 19.5 285 365 51 79 82 105

4 iR ¢ Operaling Temperature = 1,2 3~100 (-158C ~+907C) ) 85 7 10 12 15 20 30

M8 /Lubrication 12 3~100 2 & R 8 i A5 (Synthetic Grease) L3 4 6 8 10 12 15 20

%4 { Protection Class 1,2 3~100 P65 L4 26 a7 48 65 97 105 138

SHEF1 ¢ Mounting Position 12 3-100 {£ 777 /5 (Any Direction) LS B 5 7(7-8) 6(6-11) 8(8-11) 7(7-10) 8(8-15)

I (11-3000rpm, &S Noiss Level  IB(A) 12 3-100 =56 <58 =60 <63 =65 <67 =70 L6 27.5 (=32) 34 (=44) 44 ( =60) 64.5 ( <81.5) 72,5 ( <82) 85 (=120) 109 ( <119)
655 (655-70) 78 ( 78-88) 98 ( 98-114) 135 (135-153) 154.5 (154.5-164) 179 [ 179-214) 220 ( 220-230)
91.5(915-96) 115 (115-125) 146 (146-162) 201 (201-218) 251.5(251.5-261) 284 (284-319) 358 ( 358-368 )

Ci 42 60 90 115 142 180 220
== _

;}_JZ] *%EE’] | /Moment Of |nert|a/ 46(46-60 ) 65(65-80) 90 ( 90-130) 130 (130-180) 130 ( 130-180) 180 ( 180-220 ) 200 { 200-220 )

s o S1 3 3 4 5 5 6 7
" *j‘ﬁ VRB042 | VRBogo | VREBO90 | VRB115 VRB180 | VRB220 14 22 28 40 65 70 90
Sl i) ni “9‘* atio 15 18 245 35 43 59 79.5
0.03 0.16 0.61 38.25 9.21 28.98 69.61 5 - 5 s 55 ie a5
¢ opm on e o mw uy ; : : : o : @
: ; : ; % : : b8 $11 p22 $28 $38 $ 50 $ 60
6 0.03 0.13 045 2.65 7.25 2275 51.72
= i 9.4 12.8 245 31.3 41.3 53.8 64.4
A1 5 7 0.03 0.13 045 2.62 7.14 22.48 50.97
kg.cnf 8 0.03 0.13 0.44 258 7.07 22.59 50.84 o8 B = 0 L 50 $1e
hicosid o inee & 9 0.03 0.13 0.44 257 7.04 20,53 50.63 15 13 = =7 38 43 60
10 0.03 0.13 0.44 257 7.03 2251 50.56 | Ke—] 18 15 ek 32 40 =0 65
12-40 0.03 0.03 0.13 0.47 271 7.42 23.29 _ ‘ ) ) ) ) _ _ )
2 50-100 0.03 0.03 013 0.44 057 703 25 51 E1: () BEASTREHERST, () ESRERRST,  Note 1: Inside of () is the optional range of sizes, outside of () is the standard sizes.

iE2: B TR R P ER X/ MRE,
i3 WART AR SR AR S BE T LA AT R,

Note 2: The reducer output shaft size and length can be customized for customers.
Note 3: Input sizes can be subject to changed according to the brand servo motors
or stepper motors sizes.

1.8 bk (i=Nin/Nout) 2. & HEEEU00rpmiF, MEAREH MO AEE,
3.5 KINiE f1455 T2B=60%o0f T2NOT, 4B, {EHFH A 10000hrs,

-07- www.fht.tw -08- www.fht.tw



PRECISION PLANETARY REDUCERS
R &5 17 22 SRR

MODEL: VRB

#Er 2-Stage
#EEE: 15, 20, 25, 30, 35, 40, 45, 50, 60, 70
80, 90, 100 1.HFE
1 ARl i aR B3R I Ak E 9
" 2EEE
T . g s
2R B Dimensions: HRIETOR, EHE
‘ S.EHEM., GHAE N
# A% Input L8 EREERTRE, AKRE TR,
L L 450, B
U L3 A RERHA FERA—EBEL,
! - 5 BT
1. 92 EEERE. ABSBNEEE, SANIEEEER.
sl = - o 6.4 7T (F
S . o _:]."j.'___}}_' 1| &l = — [=] = SEHIELpE o
S EEREGHABRSERERE, REEEE,
1.Quiet operation
= Helical gears contribute to reduce vibration and noise.
L2 16 D6 Z2.High precision
e Standard backlash is 3 arc-min, ideal for precision
Bro . i i ] control.
T 8 = - 3.High rigidity & torgue
NI 2 —I High rigidity & high torque were achived by uncaged
AR S1 m WK 52 Dib A 53 Unit:mm needle roller bearings.
= . 4.Adapter-bushing connection
Size VRB042-12 VRBOGO-L2 VRBO90-12 VRB142-12 VRB180-12 Can be attached to any motor all over the world.
$13 416 $22 632 640 $55 $75 5.No
.No grease leakage
+3 $50 $80 ¢ 110 $130 $ 160 $ 180 Perfect solution using high viscosity anti-separation
48 (66358} o14( ¢11-14) 19 ( $11-19) $22 ( ¢p16-24) $24 1 $19-35) $35( $22-35) 42 ( $35-42) grease
GZR 30 ( $30-381) $50 $70 ( $50-480) 9110 ( $70-110)  ¢110 ( $1143) ¢ 1143 ( $110-1143)  $180 ( ¢ 114.3-200) =
D5 50 $70 %100 $130 4165 4215 250 6. Maintenance-free
D6 4934 4455 497 449 4-¢11 413 4-¢17 = \ No need to replace the grease for the life of the unit.
$46 | ¢45-66.67 ) $70 $90 ( $70-100)  $145( $90-145) 145 ( $145-200)  $200 | $145-200) $215 ( $200-235) ’ Can be attached in any position.
| D8 EEEEVEIYCY 4-Ms ( Md4) 4-MB (M4-MB)  4-MB(M5-MB)  4-M8 (MB-M12) 4-M12 (MB-M12) 4-M12 . g - _
| Dg | MaX0.7P M5X0.8P M8X1.25P M12X1.75P M16X2P M20X2.5P M20X2.5P N 1?% \ 7
Ml o 0l 2 i 00 = ve: B 1% B2 EY/Indication of Model Numbers
$ 46 $ 65 $90 118 $150 b 184 $ 2255
185 285 365 51 79 82 105 1
= ; s i Z e 5 VRL %3%Il/VRL Series
4 6 8 10 12 15 20
2% a7 48 65 97 105 138 -
: : : I E——— e el - BEEEE - = /
L6 275 3% 34 (<44) 44 ( =60) 645 (<815) 725 ( <82 85 (=<120) : ! : : :
86 105 1245 (1145-1245) 1655 ( 149.5-1655) 206 ( 189-206 ) 235 (2255235 ) 269 ( 264-299 ) ! R ' {gae !
112 142 1725 (1625-1725) 2305 ( 2145-2305) 303 ( 286-303 ) 340 (330.5-340) 407 (402-437) T v N b [ —
42 60 2] 115 142 180 200 : : E : Hjj]%mﬁ*ﬁ : i !- i
46 (46-57) 65 65 (65-86 ) 90 (90-130 ) 130 ( 130-180 ) 150 ( 150-180 ) 200 ( 180-220 ) R EME R Type 1 = V1 RiERIGE/Motor Type !
3 3 4 5 5 6 7 : i 1+ Output Shaft Keyway i1 1 I
14 2 28 a0 65 70 9% ! VRLO50, VRLO70, VRLO90, VRL120,! ; ; S1: FiOEl, MEE 2 . . '
53 15 18 245 3 P 50 795 ! VRL155, VRL205, VRL235 | 1 | (Solid Output Shaft No Keyway) | | | RIS H AR i
5 5 6 10 12 16 20 ; 158 S2: #Him, Al K :
3 4 6 8 10 14 18 | b1 Standard (Keyway) i |
K2 48 $11 $22 $28 $38 $50 660 ) bl S3: ﬁ]&d%ﬁ P |
K3 94 128 245 313 73 538 644 e R e v !
K4 $13 16 $32 38 448 $60 $72 S N e i
K5 15 15 20 27 43 ; ‘
i - I o - e - 5 L% bk /Ratio L& 4FBacklash Class

Effy. 3, 4, 5,6, 7, 8 9, 10

iE1: () EEARAEEERERT, () ERIRRERSY,
iE2: EEE N A BT R ER X MIRE,
ES: A RTRIR & AR AN EN S SiE A I PT

E€EEy. 15, 20, 25, 30, 35, 40, 45, 50, P1: #5237 F/Precision Backlash P1
60, 70, 80, 90, 100 P2. ###E{R/Standard Backlash P2

EEIEE ). VRLO90-100-S2-P1/Panasonic MSMJ 082S1A

Note 2: The reducer output shaft size and length can be customized for customers.
Note 3: Input sizes can be subject to changed according to the brand servo motors
or stepper motors sizes.

1 1
1 ]
i H
1 (] =y His =
Note 1; Inside of () is the optional range of sizes, outside of () is the standard sizes. - H PO: =i & /Micro Backlash PO
: E
1 1
1 1

—09- www.fht.tw -10- www.fht.tw



VRL }Jﬁb*ﬁ'ﬁﬁﬁ’%ﬂ Pecification Table

RS MODEL: VRL

130 1140
4 19 50 140 290 542 1050 1700 1_St
—olage
B 22 60 160 330 650 1200 2000 EEE g
1 6 20 565 150 310 600 1100 1900 #tk: 3, 4, 5, 6, 7, 8, 9, 10
7 19 50 140 300 550 1100 1800
8 17 45 120 260 500 1000 1600
9 14 40 100 230 450 900 1500
10 14 40 100 230 450 900 1500 glxﬁgﬁﬁ- Dimensions -
15 20 55 130 208 342 588 1140
AR T T o 20 19 50 140 290 542 1050 1700 L
Nm b
ij o ¥ Output 13
R ARl 25 20 60 160 330 850 1200 2000 i tH P ——
30 20 55 150 310 600 1100 1900 % s
35 19 50 140 300 550 1100 1800 T
40 17 45 120 260 500 1000 1600 =
2 45 14 40 100 230 450 900 1500 0.
50 22 60 160 330 650 1200 2000 o [
60 20 55 150 310 600 1100 1900 g P
70 19 50 140 300 550 1100 1800
80 17 45 120 260 500 1000 1600
90 14 40 100 230 450 900 1500 payy)
100 14 40 100 230 450 900 1500
B AW IE Tanor) Max. Oulput Torque Nm 12 3-100 3fE M E N t 714E/3Times of Nominal Output Torque
& AN Rated Input Speed rpm 1.2 3~100 5000 5000 4000 4000 3000 3000 2000
18 W A BBi# N /Max Input Speed rpm 1.2 3-100 10000 10000 8000 8000 6000 6000 4000
1 3~10 = = = = = =
A EL BP0 ( Micro Backlash PO arcmin E £ £ R - ? £
2 15~100 =4 =4 =4 =4 =4 =4 =4 AR §1
FEEWP1 / Precision Backlash P i 1 3-10 =4 =4 =4 =4 =4 =4 <4
2 15~100 =6 =6 =6 =6 =6 =6 =6
B Torsional Rigidity Nm/arcmin 12 3-100 3 7 14 25 50 145 225
FHHERE F 2" | Max Radial Forss N 1.2 3-100 680 1260 2880 6000 8200 12800 27800 & VRLO70-L1 VRLOZ0-L1 VRL120-L1 VRL155-L1
M N1Fae” / Max Axial Force N 12 3-100 330 625 1250 2400 3890 6100 15000 | D1 ] $16 h32 $40
ST NP2 / Max Axial Force N 12 3-100 370 760 1580 3360 4660 7250 18500 | b2 ] $52 $68 $90 $ 120
(R / Senvice Life hr 12 3-100 20000h D3 $14 ( ¢11-14) $19( $16-24) $22 ( $19-35) $24 ( $22-35)
- .10 =07% D4 $50( $50-70)  $70( $70-9110)  $110( $1143)  ¢110( ¢ 114.3)
% 1 /Effici 2 D5 4-M5X10L 4-MeX12L 4-M8X16L 4-M10X20L
i ’ 2 16~100 >94% = e 1 e —
B Weight kg 1 3~10 Q.5 1.2 3.5 7.8 14.5 30 50 B 70 ( $70-%) 00 ( $90-145)  ¢145 [ $145-200) ¢ 145 ( ¢ 145-200)
2 15-100 08 1.4 4.1 9 17.5 33 63 T 45 (Ma-M6 ) 4-M6 (M5-M8)  4-M8 (M8-M12)  4-M8 (Me-M12)
1R 802 | Operating Temperature © 1.2 3~100 (=157 ~ +80C) | D | M5X0.8P M8X1.25P M12X1.75P M16X2P
M8/ Lubrication 1.2 3-100 4 & TR il B (Synthetic Greass) 285 365 51 9
PSS | Protection Class 1,2 3100 P65 :5 :; {;’2 ;ﬁ
27718 [ Mounting Position 1.2 3~100 {E %77 B (Any Direction) 5 7.8 6-11 8-11
e 5 (n1=3000rpm, S5 #ETE)/ Noise Level dB(A) 1.2 3~100 =56 =58 =60 =63 =65 =67 =70 34 (=44) 44 { =60 ) 645 ( =815) 725 ( =82 )
115 ( 115-125) 146 ( 146-162 ) 201 (201-218) 2515 ( 251.5-261)
65 (65-80) 90 (80-130) 130 ( 130-180 ) 150 { 150-180)
: 3 4 5 5
BUE B {E 2 /Moment of Inertia/ - 4 5 o
#5 B w o - 2 18 245 35 a3
Modal No Flatm VRBLO0S50 VRLO70 VRLO20 VRL120 VRL155 VRL205 VRL235 “ 5 5 10 12
325 69.61 4 6 8 10
4 003 014 048 274 754 236? 54.37 $11 $22 $28 $38
5 0.03 0.13 0.47 2,71 7.42 23.29 53.27 128 245 31.3 M3
- 6 0.03 0.13 0.45 2,65 7.25 22,75 51.72 $16 932 b 38 $48
 kg.om? 7 0.03 0.13 0.45 262 7.14 22.48 50.97 15 20 o7 %
Moment of Inertia 8 0.03 0.13 0.44 258 7.07 22 59 50.84 1a S 95 o
9 0.03 0.13 0.44 257 7.04 22,53 50.63
10 0.03 0.13 0.44 257 7.03 22.51 50.56 3 )
5 12-40 0.03 0.03 013 047 271 742 2329 F1: () EEARTREEE R, () ERNBERERT,
50-100 0.03 0.03 0.13 0.44 2.57 7.03 22,51 2 EEEH DR RE P ESANHER,
) , ] . 3 BN RSHRE SRR ER RES S RIER LT PrES .
1R L (i=Nin/Nout)  2.85) tH$$8100rpmis, {EREHE P OME .

3. ;K miE

-11- www.fht.tw

i 146 T2B=60%0f T2NOT, E4FEHEE H=4 A10000hrs,

5
LAY, //
. __%_§
W
Unit:mm
VRL205-L1 | VRL235-L1
®75
$ 160 $ 180
$35 ( $35-p42) $42 ( $35-55)
$114.3 | $114.3-200) $180 ( ¢ 114.3-200)
4-M12x22L 4-M16X28L
¢ 184 $210
$200 [ $200-235) $215( $200-235)
4-M12 4-M12
M20X2.5P M20X2.5P
82 105
16 18
100 126
7-10 8-15
85 ( =120) 109 ( =119)
284 (284-319 ) 358 ( 358-368 )
180 ( 180-220 ) 200 ( 200-220 )
6 7
70 90
59 795
16 20
14 18
¢ 50 $60
538 64.4
$ 60 72
43 60
50 65

Note 1: Inside of () is the optional range of sizes, outside of () is the standard sizes.
Note 2: The reducer output shaft size and length can be customized for customers.
Note 3: Input sizes can be subject to changed according to the brand servo motors

or stepper motors sizes.

-12- www.fht.tw



MODEL: VRL

g 2-Stage
i#®LL: 15, 20, 25, 30, 35, 40, 45, 50, 60, 70
80, 90, 100

S R~ & Dimensions:

L6

% tH 3% Output 4 BN\ Input

Jroes
— I

202w
|
|
|
1
I
-
:
D3r7
Ddar
C1

/’T
’_1__ 4
=

e |
e 4

PRECISION PLANETA
T
PAB

RY REDUCERS

o T2 H R A —R NS R AR X fE R
HREEM
Integrated design of planet carrier and output
shaft ensures the maximun torque stiffness and
stability

e RET AESMERE, TRRREE
MEHERRER, IREIRIE AT 2 g aheES .
Electroless Nlickel deposition treatment and
black anodizing treatment are employed to
gear box surface and motar adapter module
respectively.the tolerance to the environment
and resistant to corrosion are enhanced.

@ F{EAEIFEMIBH low backlash

@ B E(95%)high efficiency (95%)
@ ETiF life time lubrication

A A% B2 2/ Indication of Model Numbers

PAB ZJ%I/PAB Type

IR/ Type
| PAB042, PABO60, PABO90, PAB115

Ll

tH mm%ﬁ
Output Shaft Keyway

81: i'l‘.‘m| ;nﬁﬂ

FiZRYEE/Motor Type
HiEFEmE R B

L5
K&
Bha "
fe v f XX
QE __-__%_‘
A
AR s1 AR 52 R S3 L2227
Unit:mm
D1 ¢16 ¢?5
$52 ¢120 ¢1so 180
$14 ( $11-14) @19{«:11 19 ¢22{¢1s 24 ) $24( $19-35) $35( $22-35) $42 ( $35-42)
$50 $70 ( $50-980) 110 ( 670-¢110) 110 ( $1143) $110 ( $1143)  $180 ( ¢ 114.3-200)
4-M5X10L 4-MBX12L 4-MBX16L 4-M10X20L 4-M12x22L 4-M16X28L
$ 62 ¢80 6108 ¢ 140 ¢184 $210
470 $90 ( ¢$70-100) $145 ( $90-145) $145 ( $145-200) $145( $145-200) 215 ( 4$200-235)
4-M5 (M4) 4-M6 { M4-M6 ) 4-M8 (M5-M8)  4-M8 ( Ma-M12) 4-M8 | MB-M12 ) 4-M12
M5X0.8P M8X1.25P M12X1.75P M16X2P M20X2.5P M20X2.5P
285 365 51 79 82 105
5 6 g9 12 15 18
35 44 62 94 100 126
5 5 8(7-8) 11 (611} g(8-11) 8(7-10)
34 34 (=44) 44 ( =60 ) 645 ( =815) 725 ( =82) 85 ( =120)
142 1725 (1625-1725) 2305 (2145-2305) 286 ( 286-303 ) 340 ( 330.5-340 ) 407 ( 402-437)
65 80 { 65-86 ) 130 (90-130) 130 ( 130-180 ) 150 ( 150-180 ) 200 ( 180-220)
3 4 5 5 6 5
22 28 40 65 70 90
18 24.5 35 43 59 795
5 6 10 12 16 20
4 6 8 10 14 18
$11 $22 $28 638 $50 $60
128 245 313 413 538 64.4
$16 $32 $38 ¢48 $60 $72
15 20 27 35 43 60
18 24 32 40 50 65

E: () IESABREREERS, () BRIMNEERST,
it2: it QA LR E P ERX/NIRE.
E3: WNRSTRIE & b AR S 1 BE R A H AT EE)

Note 1: Inside of () is the optional range of sizes, outside of () is the standard sizes.

Note 2: The reducer output shaft size and length can be customized for customers.

Note 3: Input sizes can be subject to changed according to the brand servo motors
or stepper motors sizes.

-13— www.fht.tw

. PAB142, PAB180, PAB220

| L Ratio :
' :
| H#%.3,4,5,6,7,8,9, 10 :
i 4. 12, 15, 16, 20, 25, 28, 30, 35, 40, 50, .
! 70, 80, 100 i

____________________________________________________

Standard él;:e
53. &

I i
[} 1
i i
' (Solid Output Shaft No Keyway) i
3 |
i Output for holes :

Ly
|
B
I
1
1
1
by 1
' | Motor manufacturer and model |
'
'
L
L
I
I

B4l Backlash Class

PO: B % f/Micro Backlash PO 5
P1: 1% & E2/Precision Backlash P1 !
P2. fEH#E{5p4/Standard Backlash P2 !

____________________________________________________

RIGEES[E . PAB090-100-S2-P1/Panasonic MSMJ 082S1A

-14— www.fht.tw



PAB i i#E# M aEE Rl Specification Table
N R T e ) o T R

1020
4 20 55 160 330 580 1280 2160
5 21 58 159 330 580 1250 2100
1 6 16 48 120 240 410 980 1350
r/ 19 50 148 300 530 1030 1580
8 13 45 130 230 450 880 1260
] 12 40 100 220 410 880 1450
10 15 46 125 260 475 950 1530
12 18 52 155 300 530 1100 1750
ATk T Nm 15 18 53 150 280 550 1050 1650
Hated CuthUl-T o 16 20 53 158 320 580 1200 2050
20 20 52 155 320 580 1200 2050
25 19 52 158 320 580 1200 2000
28 19 50 150 300 550 1100 1850
2 30 18 49 145 3490 500 1050 1600
35 17 48 155 230 500 1020 1500
40 18 48 150 280 530 1100 1350
50 18 50 145 290 530 1000 1300
70 16 50 140 280 490 1000 1200
80 10 43 110 230 410 960 980
100 10 43 120 260 450 950 1100
ok 86 40 S Tovor M Output Torque Nm 1,2 3-100 3{&EEE I H H56/3Times of Nominal Output Torgue
£A5E 5 AN /Rated Input Speed pm 1.2 3-100 4000 4000 4000 3500 3000 2000 2000
8 A N e/Max Input Speed pm 1,2 3-100 6000 6000 6000 5500 4500 4500 4000
1 3-10 —_ — =1 =1 =1 <1 =1
R EPO/Miero Backlash PO arcmin 2 12-100 . - o pve <3 <3 <3
. . 1 3-10 =3 =3 =3 =3 =3 =3 =3
&5 EP1/Precision Backlash P1 arcmin 2 12-100 <5 <5 <5 <5 <5 <5 <5
= EiP2/Standard Backlash P2 arcmin ! = =1 =7 ? =t = =7 =8
2 12-100 =9 =9 =9 =9 =9 =9 =9
MEEitETorsional Rigidity Nm/arcmin 12 3-100 3 7 12 25 50 140 210
E TR A F2a’/Max Radial Force N 12 3-100 780 1300 3200 6750 9400 14500 50000
(5 7)Fee’ Max Axial Force N 1.2 3-100 330 700 1580 3300 4700 7200 28000
{# A & x/Samvice Life hr 1,2 3-100 21000k
T 1 3-10 =97%
i % 2 12-100 =04%
8 Weight i 1 3-10 0.5 1.3 3.7 7.8 15 29 52
2 12-100 0.8 1.48 4.1 96 18.9 33 66
{th FRi8 1 /Operating Temperature T 1,2 3-100 (-15°C ~ +907C)
E&/Lubrication 12 3-100 & AW AS (Synthetic Graase)
D51 H &/Protection Class 1.2 3-.100 IPB5S
475 E/Mounting Pasition T 3-100 & F [E(Any Direction)
W (n1=3000rpm, 8 55H0)/ Noise Level dB(A) 1 3-100 <8B3 =63 =63 =65 <65 =70 =70

BUE B B 18 &/Moment of Inertia/

# B ikt BE -

wEho | B8 | B8 [ EE [ erou | e | oo | panvs | pava | i | s

28.98 69.61

4 ona 014 2?4 ?54 23.67 54.37

5 0.03 0.13 04? 2.71 7.42 23.29 53.27

1 6 0.03 0.13 0.45 2.65 7.25 22.75 51.72

R .01 oo 7 0.03 0.13 0.45 2.62 7.14 22.48 50.97

gy W it 8 0.03 0.13 0.44 258 7.07 22.59 50.84

9 0.03 0.13 0.44 257 7.04 22.53 50.63

10 0.03 0.13 0.44 2,57 7.03 22.51 50.56

> 12-40 0.03 0.03 013 0.47 271 7.42 23.29

50-100 0.03 0.03 0.13 0.44 2.57 7.03 22.51

1.5 IniE 46 T2B=60% of T2NOT 2.8n HIHE 100rpmiEs, {EAREBEHEPOMEE,

B=ZRXE L AE RSP, FHmMEMINKRE, FTERAIGENEEAR,

-15- www.fht.tw

MODEL: PAB

i 1-Stage

J‘Ett: 3! 4; 55 6! 75 8‘! gs 10

SpFZ2 R~ B Dimensions:

& N\ Input

L8
L4 L7
L1 L3
1 $2 | — b ‘ N
— B =)
A e i — md
8 =B @—: — a2
2o ___:__[
. -k St ) ‘ |
Lz L5
L6
s ki -
o wiw B (] i - !
wL W B gt s
-D-I- .,m. _@/ E |
e T T M S
$13 416 $22 $32 40
¢35 ¢ 50 $ 80 ¢ 110 $ 130
b B(<11) $14(=14) b 19(<24) $24(<32) $35(<42)
$30(30-50) $50(30-70) $70(50-110)  $110(50-130) ¢ 114.3(95-180)
$50 $70 $100 %130 165
4-¢ 3.4 4-$ 5.5 4-b 6.6 4—¢9 4-¢ 11
& 46(22-70) $ 70(45-90) $00(70-145) ¢ 145(70-145)  $200(90-215)
(4-M3X8L) (4-M5X10L) (4-M6X12L) (4-M8X25L) (4-M12X30L)
M4X0.7P M5X0.8P M8X1.25P M12X1.75P M16X2.0P
19 28.5 36.5 51 79
55 7 10 12 15
4 6 8 10 12
26 37 48 65 97
(4) (5) (7) (11) (7)
30 34 45 65 67.5
(65.5) (78) (99) (135) (150}
(91.5) (115) (147 ) (200) (247 )
42 Ceo 190 0115 142
(C142) (160) (C190) (C1130) (C1142)
2 2 3 5 5
16 25 32 40 65
15 18 245 35 43
5 5 6 10 12
3 4 6 8 10
8 $11 b 22 $28 38
9.2 18:2 25 313 42
613 b16 032 338 48
K5 15 1h 20 27 35
18 18 24 32 40
1 () FRARTRSEERT, () EWMREERT,

2 EUEHEH AT LR E RE R AN IRE

3 AR S o h AR S el it BT IR AT )

PAB180-L1

55
¢ 160
¢ 38(<50)
¢ 180(95-180)
$215
4-$13
¢ 200(90-300)
{(4-M12X30L)
M20X2.5P

82

20

15

105

(7)

85
(182)
(287)
1180

(C1180)
5

70

59

16

14

50

53.8
$ 60
43
50

Unit:mm

PAB220-L1

&75
¢ 180
55(<55)
& 215(180-255)
$ 250
4- 417
$ 235(200-300)
(4-M12X30L)
M20X2.5P
105
30
20
138
(12.5)
105
(226)
(365 )
1220
(C1220)
7
90
79
20
16
$60
64.4
$72
60
65

Note 1: Insicle of () is the optional range of sizes, outside of () is the standard sizes.

Note 2: The reducer output shaft size and length can be customized for customers.

or stepper motors sizes.

Note 3: Input sizes can be subject to changed according to the brand servo motors

16— www.fht.tw



MODEL: PAB PRECISION PLANETARY REDUCERS

#Er 2-Stage E&Jﬁgmﬁwﬁ
®|Ek: 12, 15, 16, 20, 25, 28, 30, 35, 40, 50, 70
80, 100 PAR

1. &5
B REEEE AR R, BENREEER
EEH, HETERETH,

A2 R ~T & Dimensions:

i \3# Input L8 #ii 3% Output L el
SHE. &
02 L4 L7 cl 2Rt WAk
(EREM R R, KXRETBHIEAIE,
L1 L3 BiEEEE ., WET L
pe Rl e R T —=mE b,
82 U T & 4 BT
I B~y & ";/ EABEE. RSSWORBE, BUBILEERETR.
e e i o
& G g — R gy 5 5 E T _
L3I Ri P S ,\ GEMKSGTHAREEREEE, REBFEE.
St 1 Nt ’ O |
| } \ 1.Space - saving
Right angle reducer using spiral bevel gear
L2 ] LS nll Costomer can locate the motor at 90 degree away
L6 from the reducer if required to save space.
2 High rigidity & forque
L 1 High rigidity & high torque was achived by uncaged
ﬁg& ;}, needle roller bearings.
. 'l-’ff“ 3. Adapter—bushing connection
Unit:mm Can be aitached to any motor all over the world.
A 13 416 22 32 40 55 475 Perfect solution by high viscosity anti-separation
435 $50 80 6110 $130 ¢ 160 ¢ 180 grease.
GbB(=11) ¢ 14(=14) b 19(=24) $24(=32) ¢ 35(=<42) $38(=50) ¢ 55(= 55) 5.Maintenance—ifree o
¢ 30(30-50)  50(30-70) ¢ 70(50-110) $110(50-130) ¢ 114.3(95-180) ¢ 180(95-180) ¢ 215(180-255) No need to replaqe the grease for the life time.
$50 $70 ¢ 100 ¢ 130 ¢ 165 $215 250 Can be attached in any position.
4-¢3.4 4-$55 4-$66 4-$9 4-¢11 4-413 4-p17
¢ 46(22-70) & 70(45-90) 4 90(70-145) ¢ 145(70-145)  $200(90-215) ¢ 200(90-300) ¢ 235(200-300) TE A 1% Ej] YBR 1) ’ i
(4-M3XBL) (4-M5X10L) (4-M6X12L) (4-MBX25L) (4-M12X30L)  (4-M12X30L) (4-M12X30L) e E i 1_5E .:I_-_/ Ind|Cat|0n Of MOdel Numbers
D9 ] M4X0.7P MEX0.8P M8X1.26P M12X1.75P M16X2.0P M20X2 5P M20X2 5P
L1 19 28.5 36.5 51 79 82 105 J
L2 55 7 10 12 15 20 30 PAR -%;[ /PAR Type
4 6 8 10 12 15 20
26 37 48 85 97 105 138 x
(4 (s) (7) (1) (7) (7) (125) PAR0SO R 10 [N - HEEN /
25 34 45 65 67.5 85 105 ! o , | . i
I EA (93) (117) (144) (161) (196} (232) (277) REEcesctSpeEgesraeranrenncanmnanany | Eez=mamaas Hﬁﬁﬁm_ﬁé}ﬁ? --------- Pl !
8 (114) (154) (192) (226) (293) (837) (415) |y e = ] bl i1 BEEZS/Motor Type |
042 [J60 190 0115 1142 1180 [1220 : HIE R Type » . Output Shaft Keyway e -
c2 (042) (LI60) (190) (C1130) (C1142) (C1180) ([1220) | PAR042, PAR060, PAR090, PAR115] | |  S1: B/, Ml o BEmiEmRIR |
2 2 3 5 5 5 7 i PAR142, PAR180, PAR220 | | | (Solid Output Shaft No Keyway) | | i Motor manufacturer and model |
16 25 32 40 65 70 90 : L S2: Ffm, HRlE 8 i
15 18 245 35 43 59 79 : Cl Stas%da;ij'] é;(gﬁay) o :
2 [ L L | : B s B !
(S 2 2 5 i ! 2 29 i L] Quitput for holes yidn )
K1 3 4 6 8 10 14 16 e e .
8 ¢ 11 22 28 98 $50 $60 e Rl
- = = 2 L = = — | BUELE Ratio = #%% #Backlash Class |
15 15 20 o7 35 43 60 | E#y.3,4,5,6,7, 8,9, 10, 14, 20 P PO: Sia&HE/Micro Backlash PO )
18 18 24 a2 40 50 65 | #45. 15, 20, 25, 30, 35, 40, 50, 70, 80, 100 | i P1; #5& & /Precision Backlash P1 5
1. () BRAEREEEERST, () BWMBIEERST,  Note 1: Inside of () is the optional range of sizes, outside of () is the standard sizes. i 120, 140, 160, 180, 200 i i P2: 7 B/Standard Backlash P2 |

2. EEREEL hE AT LA E RERINIRE.

i3 ARSI SR AR SE S ESET AT,

—-17- www.fht.tw

Note 2: The reducer output shaft size and length can be customized for customers.
Note 3: Input sizes can be subject to changed according to the brand servo motors
or stepper motors sizes.

BIZEESE . PAR090-100-S2-P1/Panasonic MSMJ 082S1A

-18—- www.fht.tw



PAR HiE#&HERE LRl Specification Table
MODEL: PAR
3 ||

150 310 1100
4 16 55 153 330 600 1250 1950 o
5 15 53 152 325 590 1200 1900 ==A5' 1-Stage
1 6 11 45 130 250 450 950 1600 ﬁtt: 3’ 4 : 5, 6, 7- 8, g, 10, 14’ 20
7 15 50 140 300 540 1050 1760
8 11 45 110 260 460 960 1550
9 g 40 100 230 450 900 1500
10 12 48 128 280 520 1000 1120 \JIZ - Di :
S imensi g
14 13 42 120 265 500 1020 1100 9' ﬁ"ﬁ_‘l—. ensions:
20 10 42 115 255 500 980 1100 i
. 15 13 50 150 300 530 1100 1800 1 HH i Output
EIRH T,
IR Nm 20 15 52 150 300 530 1150 1800
Rated Cutput Torque
25 15 53 150 325 590 1200 1800
30 13 49 150 310 550 1100 1830
35 13 50 140 300 540 1100 1800 b= o &S
40 15 45 140 260 500 1000 1600 = L]
=
50 15 50 135 230 580 1200 1670 =
70 13 50 130 300 520 1100 1600 T
2 80 11 40 100 260 500 1000 1500 =
100 10 40 100 230 450 900 1500 —
120 — — 130 310 500 1100 1900
140 = = 130 300 530 1100 1800 -
160 = = 120 260 520 1000 1600 Eav
180 = - 100 230 450 900 1500 Unit:mm
200 = = 100 230 450 800 1500
BN e O D i 12 3-200 SIEEAT It 7 %5/3Times of Nominal Output Torque PARO42-L1 PARO60-L1 PAR0S0-L1 PAR115-L1 PAR142-L1 PAR180-L1 PAR220-L1
25721 A% N uRaled Input Spead pm 12 3-200 3000 3000 3000 3000 2500 2000 2000 $13 $16 &40 455 475
£ AR ENa/Max.Input Speed pm 12 3-200 6000 6000 6000 5500 4500 4500 4000 D2 $35 $50 ¢ 80 ¢ 1 10 $130 ¢ 160 $ 180
_ , 506 <5 =5 <5 <5 <5 <5 <5 b 8(=11) 6 14(=14) ¢ 19(=24) $24(=32) b 35(=<42) ¢ 38(<50) ¢ 55(<55)
HE L BP1 ( Precision Backlash P1 AR 5 15~200 <=8 =8 <8 <8 <8 <8 <8 D4 ¢ 30(30-50) ¢ 50(30-70) $70(50-110) ¢ 110(50-130) ¢ 114.3(95-180) $180(95-180) ¢ 215(180-255)
1 3-20 =8 =8 =8 =8 =8 =8 =3 ¢ 50 $70 $100 $130 ¢ 165 $215 $ 250
=ik kP2 ¢ Standard Backlash P2 arcmin 15-200 10 10 <10 <10 <10 <10 <10 4- 4 3.4 4-$ 5.5 4- 6.6 4-¢9 4-¢ 11 4-¢13 4-$17
_ 5 “20 s 5 - . ‘“1 4 "“2 g = ‘1“ 40 ; 20 & 46(22-70) & 70(45-90) $80(70-145) ¢ 145(70-145)  $200(30-215) ¢ 200(90-300) ¢ 235(200-300)
o Ll T SR Nm/arcmin L ol D8 (4-M3X8L) (4-M5X10L) (4-M6X12L) (4-M8X25L)  (4-M12X30L)  (4-M12X30L) (4-M12X30L)
BHHER f1F2e" | Max Radlal Force N 1,2 3-200 780 1800 3200 840 9400 14500 50000 D9 MAX0.7P M5X0.8P M8X1.25P M12X1.75P M16X2.0P M20X2.5P M20X2.5P
FR Il S Feae® f Max. Axial Forca M 1.2 3~200 330 700 1580 3300 4700 7200 28000 19 28.5 36.5 51 79 g2 105
4 EBH / Servics Lite hr 1,2 3-200 21000 h I3 55 7 10 12 15 20 30
1 3-20 =93% L3 4 6 B 10 12 15 20
0 Q,
HE n/Etfency N 2 25-200 =90% 26 ar 48 65 97 105 138
1 3-20 0.9 2.1 6.4 13 24,5 51 83 (96) (117) (175) (227) (255) (289) (346)
EEWeight kg > 25..200 15 15 78 14.0 575 54 a5 (122) (154) (223) (292) (352) (394) (484)
R Crin Teraatirs © 12 2200 (-15%C ~ +90°C) (35) (5) (5) (11) (14) (15) (7)
. e
i 1.2 3-200 IP65 : : : : X
RIHE e cee _— B 1105 158 199 230 308.5 378.5
N Ny i iz s ey s D42 D60 D90 m11s Otz D180 m220
IR H {f(n1=3000rpm, k) Noise Lavel dB[:A:I 12 3~-200 =65 =65 =68 =58 =70 =72 =74 (D42} “:‘ED:I {DQBJ I:D130} {D142} {L__HBD} (DEED}
2 2 2 5 5 5 ’
- 5 = : 16 25 32 40 85 70 90
R B #E B {E = /Moment of Inertia/ 15 18 245 35 43 59 79
y 5 5 6 10 12 16 20
Fropes T e o , | B
Modal No Unit Stage Batio PAR0O42 | PAROSO | PAR0O0 | PAR115 | PAR142 | PAR180 | PAR220 k| 3 4 6 8 10 14 16
1 3-10 0.09 0.35 2.25 6.84 23.4 68.9 135.4 K2 68 11 b 22 628 38 $50 ¢ 60
HEES ot 14-20 0.03 0.07 1.87 6.25 21.8 65.6 119.8 9.2 127 25 31.3 42 53.8 64.4
Moment of Inertia 2 15~100 0.09 0.09 0.35 2.25 6.84 234 68.9 4’1 ;3 ‘*’1 156 4’2?(’}2 “ZB 2;3 “;Zﬂ 1;12
120-200 — = 0.31 1.87 6.25 21.8 65.6 ] 45 i 5 - 5 o p
1.5 K INiE F14E T28=60% of TanOT 2.5 HIFE100rpmiF, 1EAMREIHE O AR E1: () FEABTRESERT, () BHSEERT,  Note 1: Inside of () is the optional range of sizes, outside of () is the standard sizes.
3SERAREEAELES, SMmERNNASS, SERIESMEEAR, 2. EUEHEH AMETEE ARSI A NIRE, Note 2: The reducer outpuit shaft size and length can be customized for customers.
S WARTHE SRR ERBESFERETLEMEE),.  Note 3: Input sizes can be subject to changed according to the brand servo motors

or stepper motors sizes.
-19- www.fht.tw -20- www.fht.tw



PRECISION PLANETARY REDUCERS
MR 25 17 22 SRR e

MODEL: PAR

g 2-Stage
i#®tk: 15, 20, 25, 30, 35, 40, 50, 70, 80, 100, 120, 140 ;

160, 180, 200 1EPE ‘
FRARERERIAS T hEE,
" . 2EEE
5 2 R=<T @ Dimensions: ERIETI5 . EAHH,
L5 | 3. G, B N
#itHi% Output 3 L6 | ERBRART R, KX TBERILE,
. 4.5R EREFETE
AR RESHA FE—FHEL.
' N 5B
SN ERASRE. S298EA0EEE, SEILREIERR.
S 6B T E
- =) CESSTHAESFREEE, TEEFE.
S =1
: = 1.Quiet operation
~ = Helical gears contribute to reduce vibration and noise.
‘ —i 2.High precision
! 2 Standard backlash is 3 arc-min, ideal for precision
__D4 control.
. 3.High rigidity & forque
Ng:'},s, Unit:mm High rigidity & high torque were achived by uncaged
needle roller bearings.
$13 $16 22 $32 440 75 Can be attached to any motor all over the world.
¢35 $50 ¢80 $110 $ 130 ¢ 160 $ 180 5.No grease leakage _ _
$B8(<11) b 14(<14) b 19(=24) & 24(=32) $35(<42) b 88(<50) & 55(<55) Perfect solution using high viscosity anti-separation
$ 30(30-50) $50(30-70) $70(50-110) ¢ 110(50-130) ¢ 114.3(35-180) ¢ 180(95-180) ¢ 215(180-255) greass.
| D5 ] ¢ 50 $70 100 $130 ¢ 165 $215 $250 6.Maintenance—free
[ D6 R 4-955 4-$6.6 4-¢9 4-$ 11 4-413 4-4 17 No need to replace the grease for the life of the unit.
¢ 46(22-70) ¢ 70(45-90) $90(70-145) ¢ 145(70-145)  $200(90-215)  $200(90-300) ¢ 235(200-300) Can be attached in any position.
D8 (4-M3X8L) (4-M5X10L) (4-M6X12L) (4-M8X25L) (4-M12X30L)  (4-M12X30L) (4-M12X30L) - 3 ¥ \
D9 M4X0.7P M5X0.8P M8X1.25P M12X1.75P M16X2.0P M20X2.5P M20X2.5P }Jﬁj‘i E 1:% H{] 1% ?::'F_l.!/l nd ication Of M Od e | N um b ers
L1 19 28.5 36.5 51 79 82 106
L2 55 7 10 12 15 20 30
E : : : i 2 s 2 PLF Z3%l/PLF Series
L4 26 37 a8 65 97 105 138
L5 (113) (134) (157) (224) (282) (322) (383)
o (it} e o) Ed - B - B - N ‘
(35) (5) (5) (11) (14) (15) (7) PLF 080 ST P1 / w5 iE
(30) (34) (44) (60) [81) (85) . 00 SR W
(69.5) (81.5) (107.5) (134) (165) (213.5) (268.5) | : H i P i !
(90.5) (111.5) (1525) (191.5) (236) (3035 ) (878.5) | BRI Type : 0 S L HBIEZVSE/Motor Type !
e e = e =2 L e | PLF040, PLF060, PLF0BO, PLF120 | Utputﬁ ‘h;;aft g{eﬁygay B |
42 60 90 130 142 180 220 i ’ ' ' ;] s . o !
=8 &) (=R Hi) S WD = | PLF160 || (Solid Output Shaft No Keyway) | | ISR R 2L |
2 2 2 5 5 5 7 . (o S2. FEEG, ki || Motor manufacturer and model |
| sz | 16 25 32 40 65 70 a0 | ! : Lo !
15 18 245 35 43 59 79 : ! Standard K%’W&y} P :
[ B8 ] 5 5 6 10 12 16 20 I P Output fc:-r holes P ;
3 4 6 8 10 14 16 S L - A ——— B N S —
K2 $8 $11 $22 $28 ¢ 38 $50 $ 60 Pessscessnnen A e e e S et e s e S e s e e
K3 9.2 12.7 25 31.3 a2 53.8 64.4 | iBLE PE/Ratio r e
Ka $13 $16 $32 $38 48 $ 60 972 | Bfi: 3,4,5,6,7,8,9,10 H R MBacklash Class i
K5 15 15 20 27 35 43 60 i &%f6: 12,15,16,20,25,28,30,35,40,50,70,80,100 | F’O: B B/ Micro Backlash PO i
[ ke | 18 18 24 32 40 50 65 . £H8: 60,64,72,80,90,100,120,144,150,160,180,200, ¥ . IR Precision Backlash P1 !
1. () BEASTRESERT, () E%NBELR,  Note 1: Inside of () is the optional range of sizes, outside of () is the standard sizes. i 240,258,288,320,384,512,600,800,1000 : i F'2 ¥ Bi/Standard Backlash P2 ]
iEe. EpEEH AMET L BERERAMMIEE, Note 2: The reducer output shaft size and length can be customized for customers. R S L Rl T i i i B 5 e e L '
i#3: WARTMESRREREE R RIETRIERAT 8, Note 3: Input sizes can be subject to changed according to the brand servo motors 1%:2%5{5’] - PLF080-100-S2-P1/Panasonic MSMJ 082S1A

or stepper motors sizes,
—-21- www.fht.tw 22— www.fht.tw



PLF B iE#EAEE R Specification Table

17 28 112 165 423
4 15 38 110 146 364
1 5 14 40 108 160 423
7 13 35 105 149 358
10 12 25 100 141 293
15 17 28 112 165 423
20 15 38 110 146 364
HES SN BT
O Nm 25 14 40 108 160 423
30 13 28 112 165 423
2 35 13 35 105 149 358
40 12 38 110 146 364
50 14 40 108 160 423
70 13 35 105 149 358
100 12 25 100 141 293
A 48 Tenor' Mex.Output Torgue Nm 1,2 3~100 3{&£EE % 148/3Times of Nominal Qutput Torque
FI5E s M= N wiRated Input Speed rpm 1.2 3-100 3000 3000 3000 3000 2500
e AN e Max Input Speed rpm 1,2 3-~100 5000 5000 5000 5000 3600
) 1 3~10 =3 =3 =3 =3 =3
1% 15 KIP1 / Precision Backlash P1 aremin 2 12100 - <5 — T
) 1 3-10 =5 =5 =5 =5
RS EIP2 / Standard Backlash P2 arcmin 5 12-100 <B <8 =8 b <8
1R E {4 Torsional Rigidity Nm/arcmin 1,2 3<100 3 6 12 22 50
FFRE hFae’ f Max Radial Foros N 1,2 3-~-100 320 460 1300 3200 6520
EiimE ) Fzes” / Max.Axial Force N 1,2 3~100 160 230 660 1600 3260
{8 F &4 [ Service Life hr 1.2 3~100 20000 h
2% v [Efficioncy 2% 1 S =97%
2 15-100 >04%
1 3~10 073 0.99 21 4.98 18.2
o k9 2 15~100 1.05 1.46 3.2 6.92 249
{# 8 & / Operating Temperature e 1.2 3-100 -25T~+90T
il Lubrication 1.2 3-100 A R il B Synthetic Grease
PFRE® LR ! Profaction Class 1,2 3-100 IPB5
2375 [E / Mounting Fosition 1,2 3-100 fEEANy
25 {H(n1=3000rpm, %R &) Noise Lavel dB(A) 1.2 3~-100 =62 =63 =65 =67 =68

RIEEEEEE

/Moment of Inertia/

3 0.16 0.63 348 12.84 36.72

4 0.16 0.6 3.31 12.22 34.63

1 5 0.16 0.59 3.28 12.1 34.24

il I ot 7 0.16 0.59 327 12.05 34.07
10 0.16 0.59 3.26 12.03 34.02

2 12-40 0.16 0.59 3.26 12.03 34.02

50-100 0.16 0.59 3.26 12.03 34.02

1.8 bk (i=Nin/Nout)

—-23—- www.fht.tw

2.4 #5201 00rpmiky, 1ER T PO E

3EMEIE, {$ AW F10000hrs,

MODEL.:

EE 1-Stage
igtt: 3; 4! 5! 7! 10:

PLF

482 R <1 B Dimensions:

B\ Input
| (2

PLF040-L1
$12(13)
$26
$B(<11)
¢ 30(30-50)
($48)
4-43.4
$ 46(45-70)
(4-MdxsL)
M4X0.7P
18

%8
p.2
11
20
24

E1: () IEEARETRESE R,

L7
L4 L3
e
®
K6 =
|
zreld 3|
PLFO60-L1 | PLFOBO-L1
b 14(16) $ 20(22)
¢ 50 &80
¢ 14(<19) & 19(=24)
& 50(50-70) $ 70(50~110)
(¢ 70) (¢ 100)
4-¢5 4-$6.5
$ 70(70-130) $90(70-145)
(4-M4X10L) (4-M5X12L)
M5X0.8P M6X1.0P
31 36
3 3
8 10
35 40
(5) [5)
(37) (42)
(117) {157 )
62 90
(162) (C192)
25 4
25 28
16 22.6
b 5
3 6
$8 $18
9.2 21
$ 11 $24
20 30
24 a5

() BRI RAREER T,

iEe: MBI REERENANRE,
iE3: MR R &ak MRIAR Rzl 8 R T LAE s

# H i Output
[et

P
O
Unit:mm
PLF120-L1 | PLF160-L1
$ 25(32) b 40
$ 110 $130
b 24(<32) $ 35(42)
¢ 110(70-130) & 114.3(110-150)
(¢ 130) ¢ 185(165)
4-49 4—-g¢ 11
¢ 145(90-165) $ 200(145-220)
{4-MBX25L) (4-M12X251)
M10X1.5P M16X2.0P
50 80
4 5
15 16
55 87
(8) (7)
(59) (86)
(211) (292}
1124 1175
(C120) ({C1176)
5 8
40 65
28 43
8 12
8 10
425 ¢35
28 38.3
432 b 42
40 52
48 58

Note 1: Inside of () is the optional range of sizes, outside of () is the standard sizes.
Note 2: The reducer output shaft size and length can be customized for customers.

MNote 3: Input sizes can be subject to changed according to the brand servo motors

or stepper motors sizes.

—24—- www.fht.tw



MODEL: PLF

H L 2-Stage

#®ik: 15, 20, 25, 30, 35, 40, 50, 70, 100

42 R~ B Dimensions:

#i 3% Input

[162

L1

i () ERARTRERERT, () BRIREERY,

Note 1: Inside of () is the optional range of sizes, outside of () is the standard sizes.

PLE

PRECISION PLANETARY REDUCERS
MR 25 17 22 SRR e

1505

s Sl e84 BT ER IE S 2 &p T 6,

2.EEE

R T34y, EAIGHE,

3.5, BIHE
fEFEEA TR, AKIRSTRISEMAS.,
4.FF, BREHET
AR HE FE—EBEr,

5. 555 B RS i

EASHKE. RB5EMHRE, BEMILREIERR.

6.AEETE
EESRSGUNEEERPRE, REEERE,
& — 1.Quiet operation
O = Helical gears contribute to reduce vibration and noise.
2.Hgh precision
Standard backlash is 3 arc-min, ideal for precision
control.
3. High rigidity & forque
High rigidity & high torque were achived by uncaged
=il ~ needle roller bearings.
FERSI - mEs Ll g 2&% 4.Adapter—bushing connection
1 [y AT - 7
@' s{ - &ﬁﬁ = kﬂi ?‘4 Can be attached to any motor all over the world.
a o Unit:mm 5.No grease leakage
g:;_g PLF040-12 PLFO60-L2 PLF080-L2 | PLF120-L2 Perfect solution using high viscosity anti-separation
$12(13) $14{16) $20(22) $25(32) $ 40 grease.
$26 $50 ¢ 80 $110 $130 6.Maintenance—free
¢ 8(=11) $ 14(<19) ¢ 19(=24) $24(=32) $ 35(42) No need to replace the grease for the life of the unit.
$ 30(30-50) & 50{50-70) ¢ 70{50-110) ¢ 110(70-130) 4 114.3(110-150) Can be attached in any position.
b 48 ($70) (4100) ($130) ¢ 185(165) ) ]
434 -5 465 03 o R i 1 28 B /Indication of Model Numbers
D7 ¢ 46(45-70) ¢ 70(70-130) ¢ 90(70-145) $ 145(90-165) $200(145-220)
D& (4-M4x8L) (4-Md4x10L) (4-M5X12L) (4-M8X25L) (4-M12X25L) 5
D9 M4X0.7P M5X0.8P M6X1.0P M10X1.5P M16X2.0P PLE %5” /PLE Se res
L1 18 31 36 50 80
L2 3 3 3 4 5
T : ; i = - - - B - ‘
L4 225 35 40 55 87 PLE 080 1 S1 1 / iE
L5 (5) {5) (5) (8) {75 : b e g - il :
(32) (37) (42) (59) (88) i ' i B | FOEEE T EE=a=Es
(105) (138) (160) (224) { 295 ) Lok 158/ Type L tH s il Ll EsERmIEE/Motor Tvpe |
D5 D62 190 1124 1175 i BB A Typ 1 Output Shaft Keyway | ! | IR YP |
(C150) (C162) (C192) (C1120) (C1176) | PLE040, PLE060, PLEO8O, PLE120 | | | S1: Fibdh, g R o u :
2 25 4 5 8 | PLE160 | | | (Solid Output Shaft No Keyway) | | | HIEMISTE AR
14 25 o8 40 65 ! Lo So. D o 13 Motor manufacturer and model :
135 16 226 28 43 ; L Staﬂdard(ngay) b :
= ‘ 5 5 8 12 : E LT s :
3 3 6 8 10 S | | S TN | (R
3 !
48 48 o718 425 035 s
i o 2 # s F = # 4 % #Backlash Class =
b1 11 b24 $32 p42 | BfH.3,4,5,6,7,8,9,10 hacd
20 20 30 40 52 | 5. 12,15,16,20,25,28,30,35,40,50,70,80,100 | PO: ¥ & /Micro Backlash PO !
24 24 35 48 58 i 2. 60,64,72.80.90,100,120,144,150,160,180,200, ! P1; %M/ Precision Backlash P1 !

240,258,288,320,384,512,600,800,1000

P2. {E#E{R/Standard Backlash P2

iEe: RN HME L BEFERA MR,
iE3: WIANRTTRIR S E R Bzl KE LA s .

Note 2: The reducer output shaft size and length can be customized for customers.
Note 3: Input sizes can be subject to changed according to the brand servo motors
or stepper motors sizes,

BREVES ] . PLEO80-100-S2-P1/Panasonic MSMJ 082S1A

-25— www.fht.tw -26— www.fht.tw



PLE B iEH#E %R éﬂ Spemflcatlon Table
esa'no . i

3 112
4 15 38 110 146 364
1 5 14 40 108 160 423
7 13 35 105 149 358
10 12 25 100 141 293
15 17 28 112 165 423
FRE L I sETan 20 15 38 110 146 364
Rated Qutput Torgue e 25 14 40 108 160 423
30 13 28 112 165 423
2 35 13 35 105 149 358
40 12 38 110 146 364
50 14 40 108 160 423
70 13 35 105 149 358
100 12 25 100 141 293
# M R 4B Tonior ¥ Max. Quiput Taraue Nm 1,2 3~100 3 #EEY H 1 58/3Times of Nominal Output Torque
FHE N F#ENw/Rated Input Speed pm 1.2 3~100 3000 3000 3000 3000 2500
18 S BN e Max Input Spead pm 1.2 3-100 5000 5000 5000 5000 3600
& {EP1 ! Pracision Backlash P1 arcmin ! 3-10 =3 =3 =3 S8 =3
2 12-100 =5 =5 =5 <5 =5
#=# & RP2 | Standard Backlash P2 arcmin ! 249 5 £ o =9 £
=2 12-100 =8 =8 =8 =8 =8
HE Bt Torsional Rigidity Nm/arcmin 1.2 3-100 n 6 12 22 50
HFHEE N F2a’ ) Max Radial Force N 1.2 3-100 320 460 1300 3200 6520
FEF ) Feaie® / Max.Axial Force N 1.2 3~100 160 230 660 1600 3260
1% B34 | Service Life hr 1.2 3~100 20000 h
#3E n/Efficiency Yo 1 o =07
2 15-100 =94%
Hi#EWeight kg 1 3-10 0.73 0.99 241 4.98 18.2
2 15-100 1.05 1.46 3.2 6.92 249
1 fBiELE | Operating Temperature 13 1,2 3~100 -25C~-+90T
M Lubrication 1.2 3~100 =+ & Al i@ih A5 Synthetic Grease
s 5548 | Protection Class 1.2 3-100 IP65
L¥T7E / Mounting Position 12 3-100 fEEANY
1835 {H(n1=3000rpm, E&#) Noise Level dB(A) 1.2 3~100 =62 =63 =656 =67 =68

ERES 7%@Ej]’f“}.gjl\/loment of Inertia/
wE, | M| mm

0.16 0.63 3.48 12.84 672

4 0.16 0.6 3.31 12.22 34.63

1 5 0.16 0.59 3.28 12.4 34.24

:ﬂ*::;: - Kgont 7 0.16 0.59 3.27 12.05 34.07
10 0.16 0.59 3.26 12,03 34.02

2 12-40 0.16 0.59 3.26 12.03 34.02

50-100 0.16 0.59 3.26 12,03 34.02

118033 BE (i=Nin/Nout) 2 HiH3Es1 00rpmby, EATH HESOGE,  3EEEH, #FHE4E10000hrs,

27— www.fht.tw

MODEL: PLE

¥ E 1-Stage
Ett: 3; 4! 55 7; 10!

SN2 R ~F B Dimensions:

#iNim Input

[1C2

RERA1 |
s P

it 09 W 5h 09 s
] % T/

=

$12(13) ® 14(16)
D2 $26 $40
D3 HB(=11) b 14(<19)
4 30(30-50) 4 50(50-70)
¢34 $52
(4-Md) (4-M5)
$ 46(45-70) ¢ 70(70-130)
(4-M4X8L) (4-M4X10L)
M4X0.7P M5X0.8P
18 at
2 3
26 35
(4) (5)
26 32
83 113
$42 $60
(C150) (C162)
2 2
14 25
135 16
4 5
3 3
b8 b8
92 9.2
¢ 11 $ 11
20 20
24 24

iE1: () IRRARTRERERYT, () BRIMRIRERS,
iEe: MRl AN RERESXIMMIRE,
i£3: WANRHER &S ME R SR BT A TR

L7
# H 4w Output
[ {lorrtd T
@}0 12 2
L5 | |
L L6 |
| Unit:mm
PLED80-L1 PLE120-L1 PLE160-L1
$20(22) $ 25(32) 40
$ 60 80 $130
$19(=24) b24(=32) $ 35(42)

& 70(50-110) & 110(70-130) ¢ 114.3(110-150
70 $ 100 $ 145
(4—M6) (4-M10) (4-M12)
¢ 90(70-145) $ 145(30-165) ¢ 200(145-220)
(4-M5X12L) (4-MBX25L) (4-M12X25L)
MBX1.0P M10X1.5P M16X2.0P
36 50 80
3 4 5
40 55 87
(5) (8) (7)

42 59 86
148 181 282
¢80 ¢ 120 ¢ 160
(C92) (C1120) (C1176)
4 5 8
28 40 65
22.5 28 43
6 8 12
6 8 10
b8 $25 635
21 28 38.3
b24 $32 42
30 40 52
35 48 58

Note 1: Inside of () is the optional range of sizes, outside of () is the standard sizes.

Note 2: The reducer output shaft size and length can be customized for customers.
Note 3: Input sizes can be subject fo changed according to the brand servo motors
or stepper motors sizes.

28— www.fht.tw



MODEL: PLE

G 2-Stage
i#®tk: 15, 20, 25, 30, 35, 40, 50, 70, 100

M2 R =T [B Dimensions:;

PRECISION PLANETARY REDUCERS
A 25 17 22 Sl R T

1. B

HRIET35 . B,

2. Gh, BHIAE
ERBER TR, KXIRE TRIMAEE.
3 FEHEE

FRR RS RS, BRBANEE,

v L7 : s 5
& N\im Input - = 84 3% Outout 4 kR, ISt
62 L4 P AR R - R L,
b ; i 5 RIS T
e I EREEE. RSB, FREILMSE’R.
o A e, e i
s ANe | O SN 6 4T
of [ AKXV | S EESBHEAESERMEE, TEEER,
J | ‘x_"\ / f:' [ 2 WYL 1 Hi iy
BN o B .High precision
\%%: 2 w%./)f = ff/ Q/ Standard backlash is 3 arc-min, ideal for precision control
] /
= s f--)‘--,\_\D5 2. High rigidity & torque
DZ./ D8 | == High rigidity & high torque were achived by uncaged
needle roller bearings.
3. High load capacity
i s 51397[ b9 Adopting taper roller bearing for the main output shaft
[@/ oo o to increase radial and axial load.
11 N Unit:mm 4.Adapter-bushing connection
Rt Can be attached to any motor all over the world.
SLEDAY L2 £t Bt akile 5.No grease leakage
$12(13) ¢ 14(16) $ 20(22) $25(32) $40 Perfect solution using high viscosity anti-separation
$26 $ 40 ¢ 60 ¢80 $130 - grease.
b8(=11) ¢ 14(<19) ¢ 19(<24) $24(<32) $35(42) P 6.Maintenance—free
#3000 Di00) el R il DA 0-150 . No need to replace the grease for the life of the unit.
e $5e $70 g0 9155 _ Can be attached in any position.
(4—M4) (4-M5) (4-M8) (4-M10) (4-M12)
D7 _ & 46(45-70) ¢ 70(70-130) & 90(70-145) $ 145(90-165) $ 200(145-220) \J—_j-z 5 1% H}] A a:F]J - -
D8 (4-M4X8L) (4-M4X10L) (4-M5X12L) (4-MBX25L) (4-N12X25L) UL 1% R jLE% ;1=_/|rldIC‘c':l'[I0n Of MOdel Numbers
D9 M4X0.7P M5X0.8P M6X1.0P M10X1.5P M16X2.0P
L ] 18 31 36 50 80 :
2 3 3 4 5 PAD %3%l/PAD Series
L4 26 35 40 55 87
L5 (4) [5) (5) (8) (7] \
: s 2 5 co PAD 090 iy - - / S
104.5 133 168 221 3315 | | } 1 :
ci $42 $ 60 680 $120 160 ! . !
co (150 (C162) (C192) (C1120) (C1176) faa e e i e TR R L :
st | 2 2 4 5 8 | ok ot ey L HH s ! Bisegn !
= 2 2 0 e (BEARS e ||| Output ShaitKeyway | | | orE@/MolorType
83 135 i 2.9 < s | PAD047, PADO64, PAD090, PAD110! | ! S1: Hi#, Mmatid P — G
B 4 5 6 8 12 | PAD140, PAD200, PAD255 1 (Solidsgutggyghaﬂggﬁ T:vway] 1 RIEBIES XA
s s 5 s 10 : ) : HLR, GHE |
48 ¢8 ®18 »25 935 ] SR Siandadd (Reoyway) 0N |
K3 9.2 9.2 21 28 38.3 : :
K‘l ¢11 ¢11 ¢24 ¢32 ¢42 I,.___...__...__....__..__._..__..._..._..._..... _I_ ,I i ..I_ :
20 20 30 40 52 | EiE R /Ratio b 4k s |
24 o4 35 48 58 i Jk]g i i B ﬂ:ﬁ.%ﬁ&sacklash C|8.SS i
: ig 3é 4; 5, :' ;0 82: 9-2;° w0, a5, 40 » PO: EH§EiSB/Micro Backlash PO :
: = ] 51 3 L] 1 55 1 1 5! 1 50| : - o =] 151
E1: () ERABALEFEERT, () EWNBELRST,  Note 1: Inside of () is the optional range of sizes, outside of () is the standard sizes. i 70, 80, 100 i E; gﬁ%@ggﬁ?ﬁg g:g:ll::; E;

2. EEEH MR E P ER A MMIRE.
iE3: ENRTRIEERRERSESN e RETTIERER,

Note 2: The reducer output shaft size and length can be customized for customers.
Note 3: Input sizes can be subject to changed according to the brand servo motors
or stepper motors sizes.

—-29—- www.fht.tw -30- www.fht.tw



PAD R iR RE S # Spcification Table

133 1050 1700
5 22 60 160 330 650 1200 2000
| ¥ 19 50 140 300 550 1100 1800
10 14 40 100 230 450 300 1500
B ST Nm 20 19 50 133 278 555 1050 1700
FEISSCURIR SOl e 25 22 60 160 330 650 1200 2000
o 35 19 50 140 300 550 1100 1800
40 19 45 120 260 500 1000 1600
50 22 60 160 330 650 1200 2000
70 19 50 140 300 550 1100 1800
100 14 40 100 230 450 800 1500
1B 38 Tenor'/ Max.Oulput Torgue Nm 1,2 4~100 S{EFEE HiH 71#8/3Times of Nominal Output Torque
#EE A MEN W/ Rated Inpul Speed rpm 1.2 4-100 5000 5000 4000 4000 3000 3000 2000
ik oo RN a/Max. Input Speed pm 1,2 4-100 10000 10000 8000 8000 6000 6000 4000
A W EPO ( Micro Backlash PO arcmin ! 4-10 i i = a 1 i -
2 12~-100 =3 =3 =3 =3 =3 =3 =3
&SP / Pracision Backlash P1 arermin i Lo =4 T =0 = =8 =3 =7
2 20-100 =5 =5 =5 =5 =5 =5 =5
1 4-10 <6 =6 =6 =6 =6 =6 =6
EAERSIEP2 [ Standard Backlash P2 arcmin 5 P <3 i <b Cr <5 o e
M| Torsional Rigidity Nm/arcmin 1.2 4~100 8 13 30 BO 150 450 1010
1080 5 M N 1.2 4-100 43 125 235 430 1300 3064 5900
EETRR A F2en” ) Max Axiel Force N 1.2 4-100 990 1050 2850 2990 10580 16660 29430
i Fl &4 ¢ Service Life hr 1.2 4-100 22000h
1 4-10 =97%
#E 1 (Efficiency o 2 50-100 =940,
s B 1 4-10 0.7 1.3 3.2 5.8 12.3 33 57.9
2 20-100 1 1.5 4.1 7.6 16.8 38 72.8
ifi A3 B 1 Oparating Temperature G 12 4-100 (-15C ~ +80T)
5B /Lubrication 1,2 4~100 £ &R R (Synthetic Grease)
Bh@E 4 f Protection Class 1.2 4~100 P65
447 ¢ Mounting Posltion 1,2 4-~100 £ [A(Any Direction)
E{H(n1=3000rpm, 458 Noise Level dB(A) 1,2 4~100 =56 =58 =60 =63 =65 =67 =70

d‘h_%ﬁé}]’lﬁaﬂ\ﬂoment of Inertla/

0.03 0.14 0.48 274 23.67 54.37

1 5 0.03 0.13 0.47 271 7.42 23.29 53.27

P — : 7 0.03 0.13 0.45 262 7.14 22.48 50.97
iame2tibenia e 10 0.03 0.13 0.44 257 7.03 22,51 50.56
2 20-40 0.03 0.03 0.13 047 2.7 7.42 23.29

50-100 0.03 0.03 0.13 0.44 2,57 7.03 22,51

1.5 ARLE EE (i=Nin/Nout)
. HEE100rpmEF, (FATE@UERAEE,

-31- www.fht.tw

2.5 Kl i /155 T2B=60% of T2NOT

"iEgiEe, (EAFE&R15000hrs,

MODEL: PAD

BE 1-Stage
®Etk: 4, 5, 7, 10

46 R <& Dimensions:

L6

’j PAD series

MaCE VAN

8 N\ i Input
Ca

[ = P
8!, 11 12 L3 d
il (= 1
I A 7% = -
i
I r— ul
I I l— = l
g © E kg L e
bl 8 8 & I~ = & |
5] a8 a8 § g -] T [
r |
! |
£ b = =
of Y
5 s g

315
28 40 63
47 64 90
72 86 118
=11/=12 11(8 ~ 14) 19(14 ~ 22)
30 30(30 ~ 50) 50(50 ~ 110)
20 31.5 50
67 79 109
@3 O5xiR 8 O6XIRET
4-M3 T-M5xREB B-MExEE12
8-@3.4 8-04.5 8-05.5
46 45(45 ~ 70) 70(70 ~ 145)
M4 M4 - M5 M5 ~ M8
3 6
7 7 10
4 7
19.5 19.5 30
4 8 12
35 4-5 5-10
30 28(28 ~ 34) 32(32 ~ 59)
70 80.5~ 87 97(97 ~ 120)
48 60(40 ~ 60) 90(60 ~ 130)

E1: () ESARTRESERT, () BRIABEERT,
iF2: HERH M RE P ER A NIRE.
FE3: EINRHERS & & AR S BT LA S,

"‘\% ’\/

\ma " @D12
Unit:mm

100

80 100 160 180
110 140 200 255
145 179 247 300

24(22 ~ 28) 24(24 ~ 48) 35(35 ~ 48) 48(48 ~ 55)
110 110(110 ~114.3) 114.3(114.3 ~ 200) 200
63 80 125 140
135 168 233 280
OExiRET DX ET G10xERE10 O12xiRE10
11-MexiRE12 11-MBXEE1T  11-M1DxiEE20 12-M16x# E25
8-@5.5 12-06.6 12-E9 16-@13.5

145 145(145 ~ 200) 200(200 ~ 235) 235
Mma M8 ~ M12 M12 M12

6 6 8 12

10 14.5 15 21.5

8 10 12 18

29 38 50 66

13 12 16 20

10 6~8 6~10 10
60 73(73 ~ 115) 88(88~117) 119.5
142 158(158 ~ 201) 196(196 ~ 229) 255
130 130(130 ~ 180) 180(180 ~ 220) 220

Note 1: Inside of () is the optional range of sizes, outside of () is the standard sizes.

Note 2: The reducer output shaft size and length can be customized for customers.

MNote 3: Input sizes can be subject to changed according to the brand servo motors
or stepper motors sizes.

-32— www.fht.tw



MODEL: PAD

g 2-Stage
i#Ek: 20, 25, 28, 35, 40, 50, 70, 100

4p 2 R <F [8 Dimensions:

;]

j-i PAD series

MADE IN TATWAN

o Ll ozl 13 -
8 L6
P = e |16
g e K o % s |
s o r: I et
8888 8 &1V -—(%-f:_u"éé
e = \...»’3 |
!
|
| I¢
1 _!_ — e __I_ =R
o | ] =
fe Ty S 8
PADO47-L2 PADOG4-L2 PAD090-L2 PAD110-L2
12 20 3.5 40 50
28 40 63 80 100
47 64 90 110 140
2 as 118 145 179 247 300
<1i/<12 11(8~ 14) 19(14 - 22) 19(22 ~ 28) 18(19 - 38) 35(24 - 48) 38(38 - 55)
30 30(30 ~ 50) 50(50 ~ 110) T0(70 ~110) T0(70-~-114.3) 110{(110~200) 114.3(114.3 ~ 200)
20 31.5 50 63 80 125 140
67 79 109 135 168 233 280
@3 D5xiwES DExiEET DeximET DeFET G1OxFE10 D12xFE10
4-M3 7-MSxF E8 B-MexiFE12 I1-MBxEREE12 11-M8XFEE17  11-MIOxiRE20 12-M16xiRE25
8-03.4 8-@4.5 8-05.5 8-05.5 12-@6.6 12-@9 16-@13.5
46 45(45 ~ 70) T0{70~ 145) 90(90 ~ 145) 90(90 ~ 200} 145(145 ~ 235) 200(200 ~ 235)
4 M4 ~ M5 M5 ~ M8 ME ~ M8 M5~ M12 M8 ~ M12 Mi2
3 3 6 6 6 8 12
7 T 10 10 14.5 15 20
4 4 7 8 10 12 18
19.5 19.5 30 29 38 50 66
4 8 12 13 12 16 20
3.5 4~5 5~10 6~10 6~8 6~10 6~10
30 28(28 - 34) 34(34 - 59) 43(43 - 60) 65(65 - 85) 73(73 ~ 117) 73(73~117)
97.5 103(108-110)  123(123-139) 150(150~176) 195(195-211) 292(292-336)  306(306 ~ 322)
48 60(40 ~ 60) 90(60 ~ 130) 90(90 ~ 130) 90(90~180)  180(130~220)  180(180 ~ 220)

F1: () IERABARERERT, () B¥WIBEER~T,  Note 1: Inside of () is the optional range of sizes, outside of () is the standard sizes.

e mEhiEEHAMFMEERER X DMRE, Note 2: The reducer output shaft size and length can be customized for customers.

3 BANRTRiEEREEAESESFEHETLIHFMEE), Note 3: Input sizes can be subject to changed according to the brand servo motors
or stepper motors sizes.

-33- www.fht.tw

MODEL: PAD
B4) v )] ~T[@ Dimensions:

it ¥m/ OUTPUT

iR/ OUTPUT

iR / OUTPUT

PADO6G4 PADO90
i i/ OUTPUT ¥H iR/ OUTPUT

PAD140 PAD200
mitus /OUTPUT Mitis [ OUTPUT

34— www.fht.tw



PADR iR i& %Eﬁ%éﬂ SpeC|f|cat|on Table
PRECISION PLANETARY REDUCERS o s

1050 1700
| =—-l‘ : l* £ 1 5 22 60 160 330 650 1200 2000
BLD j lul lA 7 19 50 140 300 550 1100 1800
10 14 40 100 230 450 900 1500
20 19 50 133 278 555 1050 1700
P A D R 1.2 25 gt Nm 25 22 60 160 a30 650 1200 2000
2 c i Rated Output Torque
BXRE S ERREA s, BSENZETHER 85 19 50 140 300 550 1100 1800
2l 4=
QOREEE, WA TREZM. 2 40 19 45 120 260 500 1000 1600
2. &G, EFHE
4 e 50 22 80 160 330 650 1200 2000
ERERARHER, XXES THIHEMHLE, = 10 0o 140 300 50 1100 1800
3., HES
AIUZREFIMR FET—ERiEE. 100 14 40 100 230 450 900 1500
4, AT 48 44115 Towor' Max Output Torque Nm 1.2 4-100 IEATEEN H F14E/3Times of Nominal Output Torque
EREMNE. NESMNEEE, AR IEREELR. 8 A TiZN w/Rated Input Speed rpm 1,2 4-100 5000 5000 4000 4000 3000 3000 2000
v 5 HBETE £ ABEN w/Max.Input Speed rpm 1,2 4-100 10000 10000 8000 8000 6000 6000 4000
EESEGHNERELNAE, REEEE, 1 s S = ma = _
HEEE S MPO/Micro Backlash PO arcmin
: 2 12~100 =3 =3 =3 < =3 =3 =3
1.8pace — saving i 4 <3 <3 <3 <3 <3 <3 <3
Right angle reducer using spiral bevel gear #8@ P 1/Precision Backiash P1 Gretin = - - - - = = =
Costomer can locate the motor at 90 degree away 2 20-100 =5 =5 <5 =<5 <=5 =5 <5
from the reducer if required to save space. 1 4-10 <6 <6 =<6 <6 <6 <6 <§
s R HEHEYy P P2/Standard Backlash P2 aremin
2.High rigidity & torque 2 20~100 =8 =8 =8 =8 =8 =8 =8
High rigidity & hig!‘l torgue was achived by uncaged EWBIE Torsional Rigidity o 12 4100 8 13 30 80 150 450 1010
needle roller bearings.
: . 15 B ) F1RE T Naxs? N 1,2 4-100 43 125 235 430 1300 3064 5900
3. Adapter-bushing connection .
Can be attached to any motor all over the world. BRFHRITIF2at’l Max Axial Force N 1.2 4-100 990 1050 2850 2990 10580 16680 289430
4.No grease leakage IR Cnica L hr 1.2 4~100 22000h
Perfect solution by high viscosity anti-separation 1 4~10 =97%
rease W n (Efficiency o
g ' 2 20-100 =94%
5. Maintenance—free
o 1 4-10 0.7 1.3 3.2 5.8 12.3 33 57.9
No need to replace the grease for the life time. HiE/\Weight kg
Can be attached in any position. 2 20-100 1 1.5 4.1 7.6 16.8 38 72.6
{# A8 B /Operaling Temperature i 1,2 4-100 (15T ~+907TC)
=ty 2 X | i i 8/ Lubrication 1,2 4~100 £ 4 BB A (Synthetic Grease)
IR Y12 FY/Indication of Model Numbers - e Rl
/Protection Class 3 i~

. LHE 5 B/Mounting Positi 1.2 4-100 T 75 8 (Any Direction)
PADR % §[J/PADR Serles :ﬁfﬁ{m;::nool::m.o::ﬁ]mmsam dB(A) 1,2 4-100 =58 =59 =62 =65 =68 =69 =70

- - - / FLIEHEH 8118 Morent of Inertie

H Fy s 0.03 0.14 2.74 23,67 54.37
RE# BT/ Type Output Shaft Keyway H1EA5R/Motor Type ] 5 0.03 0.13 0.47 2.71 7.42 23.29 53.27
PADR047, PADR064, PADRO090, S1: EOE, HeE e - wHER L 7 0.03 0.13 0.45 2.62 7.14 22.48 50.97
PADR110, PADR140, PADR200, (Solid Output Shaft No Keyway) BEHIERHREHR Mometotinata o 10 0.03 0.13 0.44 257 7.03 22 51 50.56
PADR255 S2; MR, Hall 2 20-40 0.03 0.03 0.13 0.47 271 7.42 23,29
Standard (Keyway)
50-100 0.03 0.03 0.13 0.44 2.57 7.03 22.51

8 1 EE /Ratio PR 4 Backlash Class 1.8 28 EE (i=Nin/Nout) . 2. Bk HiH 5146 T2B=60% of T2NOT,
B, 3,4,5,6,7, 8,9, 10 Po: 7 FEE %/ Micro Backlash PO 3.Hi ¥ 100rpmi, (EATHHENME, "E4EREASTSHR150000rs,
&gi. 12, 15, 16, 20, 25, 28, 30, 35, 40, 50, . HEisPs/Precision Backlash P1

70, 80, 100 . 1E#ER/Standard Backlash P2

EREH]: PADR0O90-100-S2-P1/Panasonic MSMJ 082S1A

-35- www.fht.tw -36- www.fht.tw



MODEL: PADR

B 1-Stage
i®Ek: 3, 4, 5, 7, 10

MODEL: PADR

g 2-Stage
#Ltk: 15, 20, 25, 30, 35, 40, 50, 70, 100

4p 2 R~F Bl Dimensions: 4ME R~ Bl Dimensions:

Li2 L2

Lio L1t L1 L1 = I i'-'-' I n Ut
w7 |, sl e L7 O—F L9 ﬁﬂﬁ)\ - p
Oer
[— [ 2, ; _ it '[.;_
= ' g B '
= Oy
j:. ] ' I} _, E‘x
. = £ £4 '"F1HBI | 4 ¢ & £g F AU L1
%8%§3|1 ; | 8§ & 8 ggai@ ’ & i
5 : e .
= | . : al |
1 r | é"';; T 3. ! = ; ] 3
[ o [ of
Al § T i J s § T
! I 1 I ' 3
4‘_'- = 3l ﬁ* 1 [= JI:_ — I 4 S; 1 1
Latn L L.J :‘
L op | . ooz |
Unit:mm Unit:mm
<11/=12 11(11~14) 19(19 - 24) 24(22 - 32) 32(24 ~ 35) <48 =55 <11/<12 11(11 ~ 14) 19(19 - 24) 24(22 - 32) 32(24 - 36) <48 <55
30 50 70(70~110)  110(110~130) 110(110~114.3) 85 116 30 50 70(70~110)  110(110-130) 110(110 - 114.3) 85 116
46 70 90(90 ~ 145)  145(145~165)  145(145 ~ 200) 215 235 46 70 90(90-145)  145(145-~165)  145(145 ~ 200) 215 235
M4 M4 M8 M8 ~ M10 M8 ~ M12 M12 M12 4 M4 M4 M8 M8~ M10 M8 ~ M12 M12 M12
D5 12 20 315 40 50 80 100 12 20 315 40 50 80 100
D6 28 40 63 80 100 160 180 28 40 83 80 100 160 180
D7 47 84 90 110 140 200 255 D7 a7 64 90 110 140 200 285
| D8 | 72 86 118 145 179 247 300 72 86 118 145 179 247 300
| D8 | 20 315 50 63 80 125 140 ] 20 315 50 63 80 125 140
[ D0 | 4-M3 7-M5xRES B-MEXRE12  11-MExFEE12  11-MBXREI7 11-M10xiRE20 12-M16xRE25 [ bl | 4-M3 7-MSXRES  B-MExEE12  11-M6xRE12  11-M8xEE17 11-MIOxRE20 12-M16xRE2S5
| D11 | 67 79 109 135 168 233 280 R 67 79 109 135 168 233 280
: 8-03.4 8-24.5 8-05.5 8-@5.5 12-06.6 12-09 16-013.5 [ D12 [EEEoEE 8-@4.5 8-05.5 8055 12-06.6 12-09 16-013.5
[ D13 | @3 D5xiR 8 DX BT OOxRET OBXRET O10xREI0  O12xEE10 D13 @3 D5xiR FEB DBXRAET O6XRET OBXRE7 D10xRE10 O12xRFE10
35 5 12 10 8 6 6 35 5 12 10 8 6 6
8 10 13 19 17 20 24 L2 8 10 13 19 17 20 24
30 32 42 ~47 57 - 60 67~77 85 116 L3 30 32 42 - 47 57 ~ 60 67 -77 85 116
74 80.5 107 ~112 134 ~147.5 166.5 ~ 167 2135 268.5 74 80.5 107 ~112 134 -147.5 166.5 ~ 167 2135 268.5
104 1155 162~ 157 195~ 208.5 217.5~2415 316 398.5 103 1155 152~ 157 195-2085  217.56~241.5 269.5 340
6.5 8 12 13 12 225 30.5 L6 4 8 12 13 12 225 30.5
L7 3 3 6 6 6 8 12 3 3 6 6 6 8 12
7 7 10 1 15 15 20 7 7 10 11 15 15 20
4 4 7 8 10 12 18 4 4 7 8 10 12 18
[ L0 ] 195 195 25 29 38 50 66 19.5 19.5 30 29 38 50 66
[ ur | 60 71 102 130 1425 189 216 79 945 117 1635 187 243 270
107.5 1255 172 220 256.5 334.5 392 Li2 122 149 187 253.5 300 382 403
48 60 90(90 ~ 130) 130 - 160 130(130 ~ 220) 190 220 48 60 90(90 ~ 130) 130 - 160 130(180 - 220) 190 220

-37—- www.fht.tw -38- www.fht.tw



MODEL: PADR PRECISION PLANETARY REDUCERS
#) 1 3% R ~} [B] Dimensions: e 2 1 5 Sl ISRl

PADR047 PADRO064 PADRO090
Wit/ OUTPUT i i/ OUTPUT i i/ OUTPUT

& 1T EE L2 5 H 8l — Rl sUAS IR REARIE Xt O )
HREEM,
Integrated design of planet carrier and output
shaft ensures the maximun torque stiffness and
stability.

o EiFREF FAMEMRERE, ERREES
R, RERENHZETERED.
Electroless Nlickel deposition treatment and
black anodizing treatment are employed to
gear box surface and motar adapter module

PADR110 PADR140 PADR200 respectively.the tolerance to the environment
and resistant to corrosion are enhanced.

3% OUTPUT i / OUTPUT i Hi% / OUTPUT
» ® R{EAIEFZEEE low backlash

® & 2 FE(95%)high efficiency (95%)

@ #2588 life time lubrication

G PAF jua
s,

IR A0 B /Indication of Model Numbers

PAF #%7%I/PAF Series
PADRZ255

it | UTPUT : : - / S

......................................................................................................

E?ﬁkﬁ%ﬁ,@ﬂnype i i i Output Shaft Keyway i i é %&ﬂ%/’motor Type I[
: PLL ST Eae, R &1 ‘
| Eii?gg' Ei‘]’z?gg- E’:Eggg- PAF120 | | | (Solid Output Shaft No Keyway) | | ! T B AUSE
E ' ' i S2: fR#m, HRY § o Motor manufacturer and model |
i ) b Standard (Keyway) . ! ;
i P S3: HHFBAL i i
i by Output for holes 1 1
l"-----------'-----'------------------------‘---‘---" ------------------- -: --------------------------------
| LI b /Ratio & % PR % 4B /Backlash Class
] H :
. Bf5.3,4,5,6,7,8,9, 10 - PO: B4/ Micro Backlash PO
| ®f. 12, 15, 16, 20, 25, 28, 30, 35, 40, 50, | ! P1: 5% iP/Precision Backlash P1

70, 80, 100 . P2: 4?5 PE/Standard Backlash P2

]
I '

........................................................................................................

BBV . PAF090-100-S2-P1/Panasonic MSMJ 082S1A

-39- www.fht.tw -40- www.fht.tw



PAF @i gEE#l  Specification Table

B BAr L AR L
3 15 46 145 280 520

SRR Ten
Hated Cutput Torque

17K Hi 4 H 4R Tanor"/ Max.Output Torque
B2\ BN w/Rated Input Spead
A F N eMax. Input Speed

HEIBIP1 / Precision Backlash P1

A EIP? / Standard Backlash P2

HEEItETorsional Rigidity
4T R S1F2e / Max Radial Force
FRTINE F7F2a10” [ Max Axial Foroe
{5 ey | Service Life

e v /Efficiency

B & Weight

{E FiE® / Operating Temperature
E##Lubrication

BEEE%240 / Protection Class

#EEFR | Mounting Position

ME B {i(n1=3000mm, &) Noise Lavel

R E E) {8 =/Moment of Inertia/

Nm

Nm
mm
pm

arcmin

arcmin

Nm/arcmin
N
N
hr

Yo

dB(A)

PAF180 | PAF220

1020 1550
4 17 48 156 300 550 1280 2160
5 17 48 158 310 530 1250 2100
i 6 12 42 120 240 410 980 1350
7 13 47 143 290 500 1030 1580
8 12 39 108 230 420 880 1260
9 10 38 100 220 410 880 1450
10 12 42 120 260 475 950 1530
12 15 48 155 300 530 1100 1750
15 15 48 150 280 520 1050 1650
16 17 47 158 300 530 1200 2050
20 17 48 155 300 530 1200 2050
25 17 47 158 310 520 1200 2000
28 16 46 150 300 520 1100 1850
2 30 15 46 145 280 500 1050 1600
35 16 46 155 290 500 1020 1500
40 17 46 150 290 410 1100 1350
50 15 45 145 290 490 1000 1300
70 13 45 140 280 490 1000 1200
80 10 38 110 230 410 960 980
100 10 39 120 260 450 950 1100
12 3.100 3fEEEE I H h4E/3Times of Nominal Output Torgue
1,2 3-100 3000 3000 3000 3000 2500 2000 2000
1,2 3-~100 6000 6000 6000 5500 4500 4500 4000
1 3~10 =5 =5 =5 =5 =5 =5 =5
2 12-100 =7 =7 =7 <7 =7 =7 <7
1 3~10 =8B =8 =8 =8 =8 =8 =8
2 12-100 =10 =10 =10 =10 =10 =10 <10
1,2 3-100 3 7 12 25 50 140 210
1.2 3-100 750 1130 3000 6700 9150 14500 48500
1,2 3-100 310 600 1500 3220 4550 7100 24000
1,2 3~100 20000h
1 3-10 =97%
2 12-100 =94%
1 3-10 0.5 i 29 78 15 28 52
2 12-100 0.8 1.39 3.9 9.6 18.9 35 66
1,2 3~100 {-15C ~ +807C)
1,2 3-100 % & B i B (Synthetic Grease)
1,2 3-100 IP65
1,2 3~100 fEE A E(Any Direction)
1,2 3-100 =63 =63 =63 =65 =65 =67 =70

i By 138 14 R EL
Model No Unit Stage Ratio
3

BEREA

2
Moment of Inertia kg.cm

0.61

1. K InE 1 5 TeB=60% of T2noT
SERIEIEIEAELFES, SRR, SERAFENEEANE,

41— www.fht.tw

2 & tH %1 00rpmiEs, {EA-FHEtHBAP.OEE,

0.03 0.16 3.25 9.21 28.98 69.61

4 0.03 0.14 0.48 274 7.54 23.67 54.37

5 0.03 0.13 0.47 27 7.42 23.28 53.27

6 0.03 0.13 0.45 2.65 7.25 22.75 51.72

7 0.03 0.13 0.45 2.62 7.14 22.48 50.97

8 0.03 0.13 0.44 258 7.07 22.59 50.84

9 0.03 0.13 0.44 257 7.04 2253 50.63

10 0.03 0.13 0.44 2.57 7.03 22.51 50.56

5 12-40 0.03 0.03 013 0.47 2t 7.42 23.29
50-100 0.03 0.03 0.13 0.44 2.57 7.08 22.51

MODEL: PAF

8 E 1-Stage

i®tk: 3, 4, 5, 6, 7, 8, 9, 10

A2 R~t B Dimensions::

$6) H 3% Output

ot

0.8

e T\

Dg

o

5

;RS

PAFQ42-L1 PAF60-L1 PAF90-L1 PAF120-L1 PAF150-L1 PAF180-L1 PAF220-L1
13 16 P2 32 40 55 75

D2 35

o e
300 -50)
B -
B o
62 -70)
20
L2 55
r
2
se-7
2
s0
e
i
<2270
3
i
i
- .
E1: () EmABrHEREER T,

L4

L7

L1

o
£ EJ
& @©

51

!

Do
=
@Dihg

iE2: BRI E FEHANMIRE

ES: WA RIS S S hRE ARt RE AT LU AT E)

[
03
D4

s

50 80
14(=14) 19(=24)
50(30 ~ 70) 70(50 ~ 110)
70 100
4-@55 4-@7
70(45 ~ 90) 90(70 ~ 145)
M3 ~ M6 M4 ~ M10
M5 x 0.8P M6 x 1.0P
28 36
10
9
36 475
5(2~10) 8(4~10)
32(30 ~ 42) 45(25 ~ 60)
79 945
115 142
62 %0
62(62 ~ 90) 90(90 ~ 165)
3 5
20 25
18 245
5 6
() FESRINSIFHER T,

83

110
24 ( =32)
110 { 50 ~ 130)
130
4-@9
145 { 70 ~ 145)
M6 ~ M10
M8 x 1.25P
50
12
12
65
10 (4 ~ 10)
65 ( 50 ~ 80)
126.8
191.8
120

120 (115~130)

5
40
35
10

130
35(=42)
130(95 ~ 180)
165
4-011
145(90 ~ 215)
M8 ~ M13
M12 % 1.75P
74
15
15
a2
10{4 ~ 10)
84(50 ~ 90)
155.8
247.8
150
150(142 ~ 200 )
5
60
43
12

\
7

/

/

160
38(=50)
180(95 ~ 180)
215
4-013
200(145 ~ 300)
M10 ~M13
M12 x 1.75P
82
20
16
106
12.5(4 ~12.5)
105(50 ~ 130)
177
283
180
182(182 ~ 220)
6
70
59
16

Unit:mm

180
55(<55)
200(180 ~ 250)
250
4-g17
235(200 - 300)
M10 -~ M13
M20 = 2.5P
105
30
20
138
12.5(4 ~ 12.5)
105(60 ~ 130)
279
417
220
220
7
90
79.5
20

Note 1: Inside of () is the optional range of sizes, outside of () is the standard sizes.

Note 2: The reducer output shaft size and length can be customized for customers.

_42_

Note 3: Input sizes can be subject to changed according to the brand servo motors
or stepper motors sizes.

www.fht.tw



PRECISION PLANETARY REDUCERS
a2 1 2 iR ik

MODEL: PAF

H#E 2-Stage
i#EE: 12, 15, 16, 20, 25, 28, 30, 35, 40, 50, 70, P
80, 100 1. S8

BEETIS. ERHEHE,
2 G, EHAE
EREERTHR, KXIERTRIENEE,

SAAMEE N
FHoRE RS RS#R, BRERAETE.

VRS

5ME2 R ~T[B Dimensions:

4 i 7 Output = 4 A, B St
o L4 u A RER MR FEN—-SERKEL,
I v -i—-- i L2 - e iz 5 28585 i
s ERERE. TSSBNEENE, S0 LHEER.
! /b \ L1 2 6.HEETTE
g s E-: 5 s EEKEGHARTEEREEE, REEEE,
£ = s = = .= .
8 8 Q[ v i 1.High precision
&t s2 Standard backlash is 3 arc—min, ideal for precision control
2.High rigidity & forgue
High rigidity & high torque were achived by uncaged
[ - needle roller bearings.

3.High load capacity
Adopting taper roller bearing for the main output shaft
to increase radial and axial load.

4 Adapter-bushing connection
Can be attached to any motor all over the world.

5.No grease leakage
Perfect solution using high viscosity anti-separation

grease.
6.Maintenance—free

Dg

Bz ST

Da
AN
%3 4
D1h6 B RS2 83 | Unit
nit:mm

[ b1 13 16 22 32 40 56 75

D2 35 50 80 110 130 160 180 ) ‘
“ - = - B — i e No need to replace the grease for the life of the unit.
Sist) s i=28) (=8} {=a2) AmBo) (=56) Can be attached in any position.
30(30 -~ 50) 5030-70)  70(50~110)  110(50~130)  130(95~180)  180(95~180)  200(180 -~ 250)
| b5 | 50 70 100 130 165 215 250 \sz v % H[] ‘B8 371 : .
o M PE:S
—— TP e JB 1 1% 1122 2 /Indication of Model Numbers
46(22 - 70) 70(45-90)  90(70-145)  145(70-145)  145(90-215)  200(145-300) 235(200 - 300) :
B v-ws M3 ~ M6 M4 - M10 M6 ~ M10 M8 ~ M13 M10 - M13 M10 ~ M13 VRS %ﬁUNRS Series
B oo M5 x 0.8P M6 x 1.0P M8 x 1.25P M12x1.75P M12x 1.75P M20 x 2.5P
20 28 36 50 74 82 105 5
2 7 % 7 5 E - VRS 060 [ - - HEE / S
] ] )
7 8 9 12 15 16 20 : s ' o ;
27 3 47.5 65 92 106 -1 e mem e ——n e Lo N P ;- r
42-7) 5(2-10) 8(4~10) 10(4~10) 10(4 ~ 10) 12.5(4-125)  12.5(4~12.5) : H H A H [
NETT 1 il A - E 4 1] 8 1
2 32(30 ~ 42) 45(25 ~ 60) 65(50 ~ 80) 84(50~90)  105(50~130)  105(60~130) E REBEIRType E { I Output Shaft Keyway | | ! HIZ B4R/ Motor Type t
L7 72 111.5 131 175.3 213.3 257 328 | VRS060, VASO75, VRS100, VRS140,) | |  St: FLiM, Mgl b s B ;
99 147.5 1785 240.3 305.3 363 466 ' VRS180, VRS210, VRS240 s (30|Idsgml$#t$$23ﬂ%~l_gg J;gyway} b F S :
! o AT ] Wy '
42 62 80 120 150 100 =24 i : i i Standard (Keyway) 1 i E
42(42 - 70) 62(62-90)  90(90-165)  120(115-130) 150(142~200) 182 (182 ~220) ST 0090020 e e [ R O S NS
I ; ; ; ; a 7 R e
- . o = . . - { L L /Ratio | # % #Backlash Class !
. ; ] 1 1
5 5 5 6 10 12 16 20 | 8. 3,4,5,6,7,8,9, 10 b PO: EfE&E B/ Micro Backlash PO g
St et
; - ; ¢ : , ; - , ; | #ffi. 15, 16, 20, 25, 28, 30, 35, 40, 50, i P1: #% i5Mi/Precision Backlash P1 !
E1: () EMABAERSERY, () EBWMBIERERT.  Note 1: Inside of () is the optional range of sizes, outside of () is the standard sizes. i E P2. fEi#i54/Standard Backlash P2 :

2. O BE RN IRE.

3 BARTHRESRIMARSEL L g BE A ES).

—-43- www.fht.tv

Note 2: The reducer output shaft size and length can be customized for customers.

or stepper motors sizes.

Note 3: Input sizes can be subject to changed according to the brand servo motors

E 70, 100

EERVE ). VRS180-100-S2-P1/Panasonic MSMJ 082S1A

-44—- www.fht.tw



VRS .ﬂz RS éﬂ Specification Table
MODEL: VRS

130 1140 1500
4 50 140 290 542 1050 1700 2500 ¥
5 60 160 330 650 1200 2000 2500 BB 1-Stage
1 6 55 150 310 600 1100 1900 2260 i®EE: 3, 4, 5, 6, 7, 8, 9, 10
7 50 140 300 550 1100 1800 2300
8 45 120 260 500 1000 1600 2100
9 40 100 230 450 900 1500 1800
10 40 100 230 450 900 1500 1800 \JI4 s - "
15 55 130 208 342 588 1140 2300 &] }BRTJ- Dimensions:
BRI BT Nm 16 55 130 208 342 588 1140 2300 o
Halsdulpul Tovaus 20 50 140 290 542 1050 1700 2500 éﬁ ]':H i O utput L8
25 60 160 330 650 1200 2000 2500 oo - -
28 60 160 330 650 1200 2000 2500 s i
30 65 150 310 600 1100 1900 2300 A Ll
2 35 50 140 300 550 1100 1800 2200 / L
40 45 120 260 500 1000 1600 2350 I/ é g Sl
50 60 160 330 650 1200 2000 2200 .lg b E 5 TE L. 5
70 50 140 300 550 1100 1800 2200 \ —
100 40 100 230 450 900 1500 1800 y BY_s2 |
AR HHRIE Tavor'/ Max Output Torque Nm 1.2 3-100 3fEFE R H 5 /3Times of Nominal Qutput Torque \ " = |
R A FEN W Rated Input Speed rpm 1.2 3~100 5000 4000 4000 3000 3000 2000 1000 \og. —6\995
86 A SN o/Max Input Speed rpm 1,2 3-100 10000 8000 8000 6000 6000 4000 2500
1 3-10 <1 <1 <1 <1 =1 <1 <1 S . S—
HESEREPO / Micro Backlash PO arcmin 2 12100 &5 =7 P = <3 =7 =8
. 1 3-10 =3 <3 <3 =3 =3 <3 <3 5
FEEE P / Precision Backiash P1 arcmin > A0 pry E EE e o o e
FAFR| % Torsional Rigidity Nm/arcmin 12 3-100 7 14 25 50 145 225 260
@erim i HF2e? / Max Fadial Force N 1,2 3~100 2750 4100 6400 9880 15000 20000 27500 iWfeatS1  1@D1hg RS2
8 A2’/ Max.Axiel Force N 1,2 3-100 2350 3200 5360 9690 14200 28000 30000 Unit:mm
1 3-10 =96% Size
s Efcency % 2 15-100 >03% 16 22 32 40 55 75 85
1 3-10 18 3.8 7.2 16.8 az 49 65 60 d %0 139 130 180 200
Ei/Weight kg 2 15-100 21 41 8.1 175 a5 53 0 8(8-18) 14(14 - 24) 19(19 - 35) 24(24 - 48) 38(38 - 48) 48(48 - 55) 60
SRR / Operating Temporaiine © 1.2 3-100 (-15°C ~ +90°C) 30(30 ~ 70) 50(50~110) ~ 70(70~114.3)  110(110~114.3) 114.3(114.3 ~ 200) 200 220
W/ Lubrication 1,2 3-100 £ & A 85 (Synthetic Grease) 68 85 120 165 215 250 290
K48 6 7 Protecticn Glass 1,2 3-100 P65 4-@55 4-06.6 4-09 4-o11 4-B135 4-017 1-017
Sy Wi P 1.2 3-100 #5751 (Any Direction) 46(45 ~ 90) 70(70 ~ 145) 90(90 ~ 200) 145(145~200)  200(200 - 235) 235 240
MR (1 =3000mm, SEH) Noiss Level  dB(A) 1,2 3100 <62 <62 <65 <68 <68 <70 <70 B - M4 ~ M8 M5 ~ M12 M8 ~ M12 M12 M12 M16
| Dps | M5 M3 M12 M16 M20 M20 M20
- 28 36 58 82 82 105 130
}ﬂ@%i@i}]'gE/Moment of Inertia/ 5 6 8 10 12 15 20
6 7 10 12 15 17 20
Mndai No Unﬂ Stage F{ETIO
0.16 0.61 3.25 9.21 28.98 69.61 82.16 T H.5~18 12385 2 12 10 12
4 0.14 0.48 2.74 7.54 23.67 54.37 75.58 42435 50.5 ~ 66 62~ 82 69~115 83~ 117 116 55
5 0.13 0.47 2.71 7.42 2329 53.27 75.29 94.5 - 96 117.5-133 139 - 153 170~ 218 210~ 244 257 295
1 6 0.13 0.45 2.65 7.25 2275 51.72 72.35 142.5 ~ 144 173.5~ 189 227 -~ 247 282328 322 - 356 400 465
HWHEE . kglcmz 7 0.13 0.45 2.62 714 22.48 50.97 69.13 60 75 100 140 182 215 540
Moment of Inertia g g:i gﬁ g:g ;g: gg‘g :gg :::2 40(40 ~ 80) 60(60 ~ 130) 80(80 ~ 180) 130(130 ~ 180) 180(180 - 220) 220 250
10 0.13 0.44 2.57 7.03 22,51 50.56 66.23 2 3 10 > 6 7 3
. 15-40 0.03 0.13 0.47 271 7.42 23.29 48.23 22 28 40 70 70 90 105
50-100 0.03 0.13 0.44 2,57 7.03 22.51 45.58 18 24.5 35 43 59 79.5 90
_ ; G sk i S i [ B | 5 6 10 12 16 20 22
1.9 b (i=Nin/Nout) 2 it B 100rpms, EA TP OTE, 3. EEE, [#FASMA10000hrs,

1. () FEABTEREERST, () ESEINBERRSE,  Note 1: Inside of () is the optional range of sizes, outside of () is the standard sizes.
iE2: EUEEEH AR AR E P E R NHRE, Note 2: The reducer output shaft size and length can be customized for customers.
iE3: WIARTHE &R ER SR HER LA ES .  Note 3: Input sizes can be subject to changed according to the brand servo motors
or stepper motors sizes.
-45- www.fht.tw -46—- www.fht.tw



PRECISION PLANETARY REDUCERS
e 25 17 2 il R i

PFR

MODEL: VRS

K 2-Stage
i®tk: 15, 16, 20, 25, 28, 30, 35, 40, 50, 70
100

1.4/
B Rp b i ARt ee, [BEMRETRE
QEE, HiAH TRETM.

2. G0, GHE
AU R, KKIRE T RIS,

3 &g, HMEA
AR B R RS

A2 R~F @ Dimensions:

# 3% Output

L8

Oc2
oc1 La Lz 4. R E A
L2 L3 ERAEHE. RESENMABE, AU LERRERRE.
L1 i I 5"%5%]}_@ E AR SE o]
B | EERBROGHANETERMEE, REEEE,
§ £ S MRS o3
8 8 = ¥ @ [T [s® 1.Space — saving
- | Right angle reducer using spiral bevel gear
\ = Costomer can locate thg motor at 90 degree away
\/ \\\___:;"\( K from the reducer if required to save space.
@ns - 2.High rigidity & torque
&= High rigidity & high torque was achived by uncaged
= . = 8= needle roller bearings.
& 3. Aaapter-bushing connection
) Can be altached to any moftor all over the world.
@ = 4.No grease leakage
I Perfect solution by high viscosity anti-separation
MAERXS1  |oDihg Bz S2 53 grease.
Unit:mm 5.Maintenance-free -
No need to repiac:e the grease for the life time.
60 70 90 180 200 m 1‘% E/J 1%91:”
[ D3| 8(B~14) 14(14 ~ 24) 19(19 ~ 28) 24(24~3a> 38{24-42) 48(48 ~ 55) 48 VP B /Ind|cat|0n Of MOdel Numbers
30(30 - 50) 50(50 -~ 110) 50(50 ~110)  110(110-114.3) 114.3(110-114.8) 200 220 .
68 85 120 165 215 250 290 PFR %\?[J/PFR Senes
BT /955 4-06.6 4-09 4-011 4-213.5 4-017 4-017
46(45 ~ 70) 70(70 -~ 145) 70(70 ~ 145) 145(145-200)  200(145 - 200) 235 240
[ Dz EYCEIV M4 ~ M8 M5 ~ M8 M8 ~ M12 M8 ~ M12 M12 M16 PFR 080 s = = / EiE
[ D9 | M5 M8 M12 M16 M20 M20 M20
28 36 58 82 82 105 130 S, A ""“““.':ij““ﬁih_é% _________________________________________
5 6 8 10 12 15 20 : g b)) ] e
6 7 10 12 1 17 20 RUEFEEI/Type Output Shaft Keyway FHIELIR/Motor Type
48 56 88 112 112 143 170 PFR040, PFR060, PFR080, PFR120 S1: B, S
8-9 105~ 16 12-185 6-8 6-~10 10 12 PFR160 (Solid Qutput Shaft No Keyway) FIE RIS A RIS
42.5~435 50.5 ~ 66 61~ 68 69~ 81 69~ 117 116 56 S2: {Hithm, Higl Netor:mand aaturer sad model
1165-1175  143-1585 172178 210 - 222 236.5-293.5 257 346 Standard é;(gway}
164.5~165.5 199 -214.5 260 - 266 322 - 334 348.5 ~ 406.5 400 516 ()Suat;:m%ﬁfor H'o%s
60 75 100 140 182 215 sa0 Sl SRS SER STt It e e
c2 40(40 - 65) 60(60 ~ 130) 60(60~130)  130(130~180)  130(130~ 180) 220 250 SRS D
2 3 10 5 6 7 3 . LE tE/Ratio ] . |
22 28 40 70 70 90 105 . Hff. 3,4,5,6,7,8,9,10 2 H % Mt Backlash Class |
18 245 35 43 59 705 90 | S 12,15,16,20,25,28,30,35,40,50,70,80,100 | | PO: &% %553/ Micro Backlash PO i
8 5 6 10 12 16 20 22 - 21 60,64,72,80,90,100,120,144,150,160,180,200, | | P1; #4557 M/ Precision Backlash P1 5
b |
| | ]

! 240,258,288,320,384,512,600,800,1000 P2. jZH#EE[5/Standard Backlash P2

ZBRE F|. PFR0O80-100-S2-P1/Panasonic MSMJ 082S1A

Ei: () SRR TREEERT, () BWINSIERRT.  Note 1: Inside of () is the optional range of sizes, outside of () is the standard sizes.
2. @A AHMT I EEAERNRE, Note 2: The reducer output shaft size and length can be customized for customers.
3 WIARTRES RIEARGES SR ETLIEESE).  Note 3: Input sizes can be subject to changed according to the brand servo motors

or stepper motors sizes.

47— www.fht.tw -48—- www.fht.tw



PFR EEBIERE & Specification Table

Hig
Model No

AR A1 Tan
Rated Cutpul Torque

1B A A Taver!| Max.Qutput Torque
FEES AMENN/Rated Input Speed
18 k3 A ESBNia/Max. Input Speed

R | Pracision Backlash P1

AL BE P2 | Standard Backlash P2

I Torsional Rigidity
BT A AF2e’ ¢ Max. Radial Force
EE BRI AP0 / Max. Axial Force

1 FZan ¢ Service Life

H & n Efficiency

Hiw/Weight

R E / Operating Temperature
Mif/Lubncation

Fh#% 4 ( Protection Class
28575 i ¢ Mounting Position

M E{H(n1=3000rpm, k) Noise Level

B E B8 2 /Moment of Inertia/
5

mEEEN

Moment of Inertia

kg.cm®

Nm

Nm
pm

rpm

arcmin

arcmin

Nm/arcmin
N
N
hr

Yo

kg

dB(A)

17 28 112 165 423

4 15 38 110 148 364
! 5 14 40 108 160 423
7 13 35 105 1489 358
10 12 25 100 141 293
15 i 5 28 112 165 423
20 15 38 110 146 364
25 14 40 108 160 423
30 13 28 112 165 423
i) 35 13 2753 105 149 358
40 12 38 110 146 364
50 14 40 108 160 423
70 13 35 105 149 358
100 12 2 100 141 293
1,2 3-100 afEFE S H 4E/3Times of Nominal Quiput Torque
1,2 3~100 3000 3000 3000 3000 2500
1,2 3~100 5000 5000 5000 5000 3600
1 3~10 =8 =8 =8 =8 =8
2 12-100 =10 =10 =10 =10 =10
1 3-10 =11 =11 =11 =11 =11
2 12~100 =13 =13 =13 =13 =13
1,2 3~100 3 6 12 22 50
1,2 3~100 320 460 1300 3200 6520
1.2 3-100 160 230 660 1600 3260
1.2 3-100 20000 h
1 3-10 =97%
2 15~100 =94%
1 3~10 0.73 0.99 2.1 4.98 18.2
2 15-100 1.05 1.46 3.2 6.92 249
1.2 3-100 -25C~+90C
1.2 3-100 £ & R 27 iESynthetic Grease
1,2 3~100 IP65
1,2 3~100 1E ANy
1,2 3-100 =62 =83 =65 =67 =68

PFRO40 PFRO60 PFROBO PFR120 PFR160
0.63

0.16 3.48 12.84 36.72

4 0.16 0.6 3.31 12.22 34.63

1 5 0.16 0.59 3.28 1241 34.24
7 0.16 0.59 3.27 12.05 34.07

10 0.16 0.59 3.26 12.03 34.02

2 12-40 0.16 0.59 3.26 12.03 34.02
50-100 0.16 0.59 3.26 12.03 34.02

1. B InE 55 T2B=60% of T2NOT
SZBAREILLAE RS, FimENMARE, FEREFESHMEEAER,

-49- www.fht.tw

2 By tHEu 1 00mmiF, EATEHEPOLE,

MODEL: PFR

BE 1-Stage
ﬁtt: 3: 41 5; 6! 7! 8! g! 105 14! 20

42 R~t[E Dimensions:

#i H % Output T . i N Input
: L2
: oc2
82 L ] . ’ _
8 &3 8 i
| ' a |
i =
T’?I:J'_“\[ !'- .E!'H, o L4 m
[ i
=
D4H7
K6
0 g
5 < 3 =
A 51 D1ho) mEiwAFLRST 83 772
Unit:mm
PFRO60-L1 PFRO80-L1 PFR120-L1 PFR160-L1
¢ 14(16) $20 (22) $25(32) 40
. ¢50 $80 6110 $130
| b3 | ¢ 14 ( $6.35-18) 18 ( $11-24) $22 [ $16-24) $35 ( $22-38)
®50 ( $30-70) $70 ( $50-110) 6110 ( ¢ 55.5-110) $114.3 ( $110-1143)
D5 $70 ( $45-90) $90 ( $70-145 ) $145 [ $90-155) $200 ( $145-200 )
D6 4-M4 ( M3-M6 ) 4-M5 ( M4-M8 ) 4-M8 ( M6-M12) 4-M12 ( M8-M12)
“ $70 $ 100 $ 130 $ 185
4-$55 4-¢6.5 4-$85 4-¢ 11
D9 M5X0.8P M8X1.25P M10X1.5P M16X2P
35 40 55 87
31 35 49 78
3 4 5
L 46 55 80 111
143 190 273 295
5(4-8) 8(5-8) 8(5-8) 5(6-7)
32(32-44) 42(42-60) 70 (59-70) 86 ( 62-86 )
) 66(66-88) 95.5(95.5-113.5) 130 (119-130) 165.5 ( 165.5-189.5 )
60 90 120 160
c2 60(60-90) 90(90-130) 130 (120 ) 175 (142)
3 3 5 :
25 30 40 70
16 225 28 43
5 6 8 12
4 6 8 10
o 11 $22 28 38
a 12.8 245 313 413
$16 $32 $38 048
15 20 27 35
18 24 a2 40

-50- www.fht.tw



PRECISION PLANETARY REDUCERS
im 25 17 22 SR SR I

MODEL: PFR

& 2-Stage

#tk: 15, 20, 25, 30, 35, 40, 50, 70, 80, 100
120, 140, 160, 180, 200

462 R~F &l Dimensions:

1.5 F/6
BB EESERRE N, BEMRERTEHR
0EEe, HETRETH.

LN Oiput —; K 2.5, FHE
T 1 ] EREREESR, KXREB THIENHLE.
oe 3.iEE e, WES
$2 | 81 AL B HR LEM—=NEL,
. 2 A 4 FE RN
o ERASE. ABHBNMBE, BEHphEREELR.
_ - a | 54 E -
== g EERECHAESERNRE, REEFEE
il “‘ﬁ\f -
' 1.Space — saving
e || 5 Right angle reducer using spiral bevel gear
D47 Costomer can locate the motor at 90 degree away
rom the reducer if required to save space.
BhO f f
A0 o, D9 2.High rigidity & torque
\‘" 8 High rigidity & high torque was achived by uncaged
AR s1 m AL 52 D1hé B ATLRT $3 needle roller bearings.
Unit:mm 3.Adapter-bushing connection
: Can be attached to any motor all over the world,
$14(16) $20 (22) $25 (32) ¢ 40 Perfect solution by high viscosity anti-separation
50 $80 $110 130 greascs
$14 ( $6.35-19) $19 ( $11-24) $22 ( $16-24) $35 ( $22-38) 5.Maintenance—free -
$50 [ $30-70) $70 { $50-110) $110 ( $55.5-110) $114.3 ( $110-114.3) No need to replace the grease for the life time.
$70 [ $45-90) $90 ( $70-145) $145 ( $90-155) $200 ( ¢ 145-200 ) Can be attached in any position.
4-M4 ( M3-M86 ) 4-M5 ( M4-M8 ) 4-M8 ( M6-M12 ) 4-M12 ( M8-M12) B BB JTI ] -
o i o o ALIEHE 912 EY/Indication of Model Numbers
4-$55 4-$B5 4-$85 4- 11
M5X0.8P M8X1.25P M10x1.5P M16X2P "
= e = “ PER Z3%l/PER Series
31 35 49 78
3 3 4 5 ;
: i i 20 PER 080 Sy = - / EE
62 785 110 149 l i : i :
- A T~ o | | s I
159 213.5 303 333 A : TR e | DEE N aNaIaIEIaRTIIRETEO !
5(4-6) 8(5-8) 8(5-8) 5(5-7) R RIS Type L tH 71wkl il BIERSE/Motor Type !
32(32-44) 42(42-60) 70 (59-70 ) 86 (62-86 ) : PEHMOmPEROiz PEROSO. PERT 205 P Olétpugs,hgt P;;ﬁggay i ae !
66(66-88) 95.5(95.5-113.5) 130 (119-130) 165.5 ( 165.5-189.5 ) i ! 4 J i | 1: BLRH, & e 8 i
o o g o0 | PER160 ! |1 (Solid Output Shaft No Keyway) | | | S I E R R 2GR :
! E 1 4 S2. IEHER, B oy Motor manufacturer and model |
60(60-90) 90(90-130) 130 (120) 175 ( 142) ! L : Ey !
i Ui Standard (Keyway) 2 ]
d > o ~ : E S3: #iHATL by !
25 30 40 70 | A Output for holes [ 3 :
16 225 28 43 r______________________________________!____________,I I____________________'_______________________________,I
5 6 8 12 i iR EE/Ratio b !
4 6 8 10 i gftg W % O P i % 4f Backlash Class !
f;; 2422 :122 :13: i GfF. 12,15,16,20,25,28,30,35,40,50,70,80,100 i | PO. B#EE M/ Micro Backlash PO E
¢1's ¢§2 ﬁa “8 i £ 60,64,72,80,90,100,120,144,150,160,180,200, ; ! P1. #iEE8/Precision Backlash P1 :
. > = & : 240,258,288,320,384,512,600,800,1000 P 1 P2: #R#E%BR/Standard Backlash P2 5
N 2 - N #AVE . PERO80-100-S2-P1/Panasonic MSMJ 082S1A

51— www.fht.tw 52— www.fht.tw



PER iE# £ sEE Rl Specification Table
RS
3 17 28 112 165 423

4 15 38 110 146 364
1 5 14 40 108 160 423
7 13 35 105 149 358
10 12 25 100 141 293
15 17 28 112 165 423
RS STy 20 15 38 110 146 364
Rated Ouiput Torque il 25 14 40 108 160 423
30 13 28 112 165 423
2 35 13 35 105 149 358
40 12 38 110 146 364
50 14 40 108 160 423
70 13 a5 105 149 358
100 12 25 100 141 293
18 Jo i tH 348 Tewor '/ Max, Output Torque Nm 1.2 3-100 SEFAE S 4 77 45/3Times of Nominal Qutput Torque
H#EH N HENWRated Input Speed pm 1,2 3-100 3000 3000 3000 3000 2500
15 LA FHEIN 2/Max. Input Speed pm 152 3-100 5000 5000 5000 5000 3600
AP / Precision Backiash P1 arcmin 1 3~10 =8 =8 =8 =8 =8
2 12~-100 =10 =10 =10 =10 =10
EiiE P2 ( Standard Backlash P2 arcmin E 310 i =£H s 11 =1 =1
2 12-100 =13 =13 =13 =13 =13
B Torsional Rigidity Nm/aremin 1.2 3-100 3 6 12 22 50
B8 /IF2e® | Max.Radial Force N 1,2 3-100 320 460 1300 3200 6520
Bl HFze’ [ Max Axial Force N 1,2 3~100 160 230 660 1600 3260
#HH& / Service Lile hr 1.2 3-100 20000 h
1 3-10 =97%
2% 1 /Efficiency %
2 15-100 =94%
=& /Weight kg 1 3-10 0.73 0.99 24 498 18.2
2 15~-100 1.05 1.46 3.2 6.92 249
4 PR / Operating Temperatune T 12 3-100 -25C-~+90C
$M;B/Lubrication 2 3-100 & Al iE i iE Synthetic Grease
BAHES 4 | Protection Class 1.2 3-100 IP65
ZEF51 / Mounting Positions 1.2 3~100 FEANY
W {E(n1=3000rpm, #EfuEL)/ Noise Level dB(A) 1,2 3~100 =62 =63 =65 =67 =68

BIE B ) [B =/Moment of Inertia/

3 0.16 0.63 3.48 12.84 36.72

4 0.16 0.6 3.31 12.02 34.63

1 5 0.16 0.59 3.28 12.1 34.24

ﬁﬂ::::ham i 7 0.16 0.59 307 12.06 34.07
10 0.16 0.59 3.26 12,03 34.02

2 12-40 0.16 0.59 3.26 12.03 34.02

50-100 0.16 0.59 3.26 12.03 34.02

1.5 K ik 51 8 T2B=60% of T2NOT, 2 W HEE0100rpmBE, 1ER FiaH dh O I E,
SEBRAKRELERELRS, FMMEMNARS, TEHIFEANHEAE,

-53- www.fht.tw

MODEL: PER

BE 1-Stage

*®k: 3, 4, 5, 6, 7, 8, 9, 10, 14, 20

4h 2 R <F 8 Dimensions:

A
e

o|g|o|o
N —-

ol

|

ol|la|la|a|&]|la

[l e [ ol
O~ |® ;|

-~
ca

=
E-N

=
o

#i i i Output

D2h7

L5
4 [
L2
£ 4
=
&
3
sl | |
D4H7
09
! i
BHEIT st D1h6) A 52 Dihé §i s RHFLRT 83
PEROG0-L1 PER080O-L1
b 14(16) $20(22)
& 40 $60
$14 ( $6.35-19 ) $19( p11-24)
$50 ( $30-70) $70 ( $50-110)
$70( $45-00) $90 1 ¢$70-145)
4-M4 ( M3-M6 ) 4-M5 ( M4-M8 )
$52 b 70
4-M5X10L 4-MBX12L
M5X0.8P MBX1.25P
35 40
a1 35
3 3
46 55
143 190
5(4-6) B8(5-8)
32(32-44) 42(42-60)
66(66-88) 95.5(95.5-113.5)
60(60-390) 90(90-130)
3 3
25 30
16 225
5 6
4 6
$11 $22
12.8 24.5
16 432
15 20
18 24

oc1

PER120-L1
$251(32)
$ 80
622 ( $16-24 )

$110 ( $55.5-110)

$145 ( $90-155)
4-M8 ( M6-M12 )
¢ 100
4-M10X20L
M10X1.5P
55
49
4
80
273
8(5-8)

70 (59-70)
180 (119-130)
130 ( 120)

5
40
28
8
8
$28
31.3
$ 38
27
32

Unit:mm

PER160-L1

640
4130
¢35 ( $22-38)

p114.3 ( $110-114.3 )

$ 200 ( ¢ 145-200)
4-M12 ( M&-M12)
$ 145
4-M12x24L
M16X2P
87
80
5
111
295
5(5-7)

86 (62-86 )
165.5 ( 165.5-189.5 )
175 (142)

b
70
43
12
10
$38
41.3
$48
35
40

-54- www.fht.tw



MODEL: PER

& 2-Stage

i®tk: 15, 20, 25, 30, 35, 40, 50, 70, 80, 100
120, 140, 160, 180, 200

PRECISION PLANETARY REDUCERS
e 22 17 22 il R i

1.5

FEREEGERIEG R E,

2.5BE

ERE T35, EAGHE,

3.5, FHE
EREEETFR, AXIRS THIEMES,

M2 R =T [8 Dimensions:

éﬁ]tﬂﬁ% OUtpUt L5 - L'I $ﬁﬁ)\§ﬁ'ﬂﬁ Input 450, BRI
B g % ALl ER B R FEA—HERE L,

N vy - ot 5. JEN BB
//-;\ 5 - EREE. REAMBMEBERE, BRELEEE R,
([ AN - = o
& “'y i - A
\‘\!J/ " ] EESBOUNERERNAE, TEEEE,

Nyl ]

O T — 1. Quijet operation

[l il i R | ® i Helical gears contribute to reduce vibration and noise.
rlJ\[ ! I 2.High precision
D3F6 || 3 Standard backlash is 3 arc-min, ideal for precision
D4H7 control.

3. High rigidity & forgue
High rigidity & high torque were achived by uncaged
needle roller bearings.

4.Adapter-bushing connection
Can be attached to any motor all over the world.

Bn9 _ Kt
shAIE §1 (D1he| mRust 52 [Dih Wi AFLR 83 )
Unit:mm

P2. fE#I/Standard Backlash P2

5.No grease leakage
$14(186) $¢20(22) $p25(32) $40 Perfect solution using high viscosity anti-separation
$40 ¢ 60 480 $130 grease.
¢14 [ $6.35-19) $19 [ ¢11-24) 22 ( p16-24) $35( ¢22-38) 6.Maintenance—free
| D4 | $50 ( $30-70) 670 ( $50-110) $110 ( $555-110) $114.3 ( $110-114.3 ) No need to replace the grease for the life of the unit.
$70 ( $45-90) 90 ( $70-145) $ 145 { $90-155) 200 ( ¢ 145-200 ) Can be attached in any position.
D6 4-M4 ( M3-M6 ) 4-M5 ( M4-M8 ) 4-M8 ( M6-M12) 4-M12 ( M8-M12) sedt & \ I . -
o 52 470 4100 p1es BIEHERTIE R/ Indication of Model Numbers
[ ps | 4-M5X10L 4-MEX12L 4-M10X20L 4-M12X24L
T M5X0.8P M8X1.25P M10X1.5P M16X2P .
L2 31 35 49 80
3 3 4 5 |
: 7o o o VRSFos0 Il 10 [ = /
159 2135 303 333 i AT i ; i ;
5(4-6) 8(5-8) 8(5-8) 5(5-7) : ! ;
32(32-44) 42(42-60) 70 (59-70) 86 (62-86 ) Pt IO I H:]:ﬁﬁlﬂﬂﬁ """"""""" T dmmommeg !
66(66-88) 95.5(95.5-113.5) 130 ( 119-130 ) 166.5 ( 165.5-189.5 ) R AR ST 2 = e 2 :
R EY S e . v BRiEZESE/Motor Type
C1 60(60-90) 90(90-130) 130 (120) 175 (142 ; P i Output Shaft Keyway i il e i ;
3 3 5 5 | VRSF060, VRSF080, VRSF100 15 S1: BoHh, Mt e 3 ; ‘
| VRSE ' | | (Solid Output Shaft No Keyway) | | | R SR R AR ‘.
25 30 40 70 , 125 15 i 5 .
16 225 26 % i 0 oy B i
T 5 6 8 2 S | b bl e U R SR
4 6 8 10 : E
128 24.5 313 413 | iELER tk/Ratio P L PEZ 4R Backlash Class :
7R 16 a2 3 a8 : - N _ |
E‘:} ¢15 *’20 "'27 ¢35 | B 38, 4,5,7, 10 o PO: 1% 15 Bi/Micro Backlash PO ;
i I 1 " 5 . I
” = = = = | @f: 15, 20, 25, 30, 35, 40, 50, 70, 100 b P1: #5&H f/Precision Backlash P1 |
: P i

BREVE] . VRSF080-100-S2-P1/Panasonic MSMJ 082S1A

55— www.fht.tw 56— www.fht.tw



VRSF R M ‘é’ﬁﬂ SpeC|f|cat|on Table

ke L VRSFO60 VRSFOB0 | VRSF100 VRSF125 .
Model No Stage | | | .

54 112 286
4 48 110 146 255 =
1 B 45 108 160 264 B 1-Stage
7 41 105 149 245 ’
lE tt : 3 3 4 s 5 3 7 ’ 1 0
10 40 100 141 234
15 54 112 165 286
A1 FE e N 20 48 110 146 255
el fault il ens 25 45 108 160 264 Y : :
A A [y % -
30 41 112 165 286 9{ ﬁ’R—J- Dimensions:
2 35 41 105 149 245
Ll
40 39 110 146 256 i H im Output -
50 45 108 160 264 i
70 41 105 149 245 - o3 - B L3 - L5 _
100 40 100 141 234 - . o B S
B AN 4 Tavor/ Max Output Torque Nm 1.2 3-100 3Z 5EE T H 4E/3Times of Nominal Output Torque i i (
B A RN n/Rated Input Speed rpm 1,2 3~100 3000 3000 3000 3000 L1 | |
£ 5 WA S50 m/Max Input Speed rpm 1,2 3~100 5000 5000 5000 5000 E"§
w L
_ ) 1 3-10 =5 =5 =5 5 = — SN = = 8| S
FEFHRP1 | Precision Backiash P arcmin o e ——— S al a
2 12-100 <7 <7 <7 <7 \ |
AR P2 | Slandard Backlash P2 arcmin - $° =8 <8 <8 =8 e S1 | |
2 12-100 <10 =10 =10 <10 | S 2 ﬂ
SR Torsional ligidity Nm/arcmin 12 3-100 5 12 14 23 ) H
K B B S Navs” N 1.2 3-100 800 1200 3200 5220
FFHHE AIF2e” | Max Axial Forca N 1,2 3~100 400 600 1600 2600
{# A= / Service Life hr 1.2 3-100 21000 h
¥ = 1 /Efficiency 2 1 3-10 =97%
2 15~100 =94%
= &/ Weight kg 1 3-10 1.2 1.6 3.76 7.43
2 15~100 21 2.8 5.92 10.3
{i FHE & / Operating Tempearatura T 1.2 3-100 -25T-~+90TC Hifiy S BifgRS2 .82
T/ Lubrication 1,2 3~100 & & AL 3 ESynthetic Grease
B &% 4L / Protection Clas 1.2 3-100 IPB5 :
i i ’ . VRSFO60-L1 VRSF080-L1 VRSF100-L1 VRSF125-L1
#7718 / Mounting Position 1,2 3~100 {1 2= Any
LR F{E(n1=3000rpm, AR Noise Level dB(A) 1.2 3-100 <60 <62 =65 <67 = ;2 ‘:g ¢3120
8(8 ~ 14) 14(14 ~19) 19 22(22 ~ 24)
| ba | 30(30 - 50) 50(50 ~ 70) 70 110
. 60 90 115 135
Jﬁ T%i@@fl FE./Moment of Inertla/ M5 M6 M8 M10
» N 45(45 ~ 70) 70(70 ~ 90) 90 145
R L2 Bl M4 -~ M5 M4 ~ M5 M8 M8
_ VRSFO60 VRSF080 VRSF100 VRSF125 = =
Model No Unit Stage _ M4 M6 M8 Mi2
3 0.16 0.61 3.25 9.21 L1 20 30 40 55
4 0.14 0.48 2.74 7.54 L2 3 3 5 5
5 0.13 0.47 - 14| 7.42 L3 32 50 61 75
EENIE 21 e 1 6 0.13 0.45 2.65 7.25 L4 4 4 4 8
Cm
Momertof et 7 0.13 0.45 2.62 7.14 L5 27~32 32 38 65.5
8 0.13 0.44 2.58 7.07 109 148.5-148.5 1;; 21:5
01 52 78 125
9 0.13 0.44 2.57 7.04
40(40 ~ 52) 60(60 ~ 80) 90 125(125 - 130)
10 0.13 0.44 2.57 7.03 18 20 a2 50
2 12-40 0.03 0.13 047 2.7 13.5 21.5 27 a5
50-100 0.03 0.13 0.44 257 5 | 4 6 6 10
#1: | ) BEARTESEEERT, | ) SESRERRT. Note 1: Inside of () is the optional range of sizes, outside of (} is the standard sizes,
s ; i 2 R B AR PER RS Note 2: The reducer output shaft size and length can be customized for customars,
1 iﬁil;g th (|=N|an0Ut) o 2 E%j:?ﬁ'\f Hj j] §ETEB= 60% of TENOT;— 3 AR RS S ER R EN S B LG, Naote 3: Input sizes can be subject to changed according to the brand servo motors or stepper motors sizes.

S EH100rpmbs, {EM T ARAIE, “2AIEREMREaR15000hrs,

-57- www.fht.tw -58— www.fht.iw



MODEL: VRSF

g 2-Stage

®tk: 15, 20, 25, 30, 35, 40, 50, 70, 100

A2 R < [B Dimensions:

L6

L4

A Input

0cz

|
L 1L

.

#i H % Output
L3
2, 4
i
L1
g g
(=) (=)
a Qo
51
!
DQ\ DB\
& 3=
S E’ﬂi} X S2 s2

R .
ST VRSF060-L2
12
50

11(11-14)
50
80
M5
45(45 ~ 70)
M4 ~ M5
M4
20
3

18
e :
#1: [ ) ERARTEFEERS, () FRRERRST.

o REHH AT B & RE SR
iE3: MIARSTHEM SRR S ENF i RiET TR 28,

-59- www.fht.tw

7@#
i\

Unit:mm

19 2 32

100-L2
A
20

70
14(14 - 19)
50(50 ~ 70)
90
M8
70(70 ~ 90)
M4 ~ M5
M8
30
3
50
4
32
150 - 155
78
60(60 ~ 80)
22
21.5
6

14-19
50(50 ~ 70)
115
M8
70 ~ 90
M4 ~ M5
M8
40
5
61
4
38
165 ~ 179
98

60(60 ~ 80)

32
27
8

110

22(22 - 24)

110
135
M10
145
M8
M12
55
5
75
8
655

250.5

125

125(125 ~ 130)

52
35
10

Note 1: Inside of () is the optional range of sizes, outside of () is the standard sizes.
Nate 2: The reducer output shaft size and length can be customized for cusiomers.
Note 3: Input sizes can be subject to changed according to the brand serve motors of stepper motors sizes.

ZR

AERESRER
INF10FD

- FRGERMREEHAENT, —REKRFKmM

IR, MREELEHE,

- EEEREREOE, ERREE. BWE.

- BEEE. FE. BE. RS, RE; E20HE

ZEE, KRE. BREEEREER,

Low Ratating Backlash
Less Than 10sec

- The right angle reducer is precision machined

on b-axis controlled machining center which
allows for one-piece machining in one setup
to assure the best geometric accuracy

+ The transmission gears are precision ground

providing low rotating backlash and high
accurany

* precise transmission low noise maximum

stability and smoothness

4. Features
KRR, W), SREARESH,

<), EE®, BREEAsHERTDR
{EEPREME R,

BT REFRR SRS EEMRIVERY .

PRECISION PLANETARY
B A SRR

» The reducer body is compactly consteucted with small volume to
save considerble installation space

- Although the reducer is small in volume and light in weight it is
capable of providing high torque output and low backlash

« When ordering please advise the sizes of flange and shaft of your

motor

—-60- www.fht.tw




RISE = B1:Model Identification

ZR— 42— K M
| | | |

AU ZE= BIl:Model Identification

ZR—60— H M4
| | | |

BERAEEEET ki WLk HiEFEn BRAREEET ¥4 HRLE L HiEaEn
Right Angle Reducer Specifications Ratio Motor Right Angle Reducer Specifications Ratio Motor
V1:{7IE@8 PCD45,M3 T1:4£05 PCD43.8 M3 2 V1:fAiRS14 PCD70 M4 | T1:47#08 PCD66.67,M4
v2:{5]iR@8 PCD46,M4 T1:45#£06 PCD43.8 M3 ’ V2:{5iR@14 PCD70M5 | T2:451£08 PCD70,M4
AR 7
SRE100W AC RS &AM SE Inupt shalt Mex-p14 TSR0 BCLTONM

T RIHE200~400W AC falflR| HREAE60EI T IE HiE

PCDa70 Mator flange @50

T~ EUSE Model No.

N PCD@d6(d5 - d 5 : S0
T e ption D -— e -~ L L #PADescription | 2100
1 . | T 3xd-M5x10dp R A E (kgl.m/N.m) 4545
LHRE 29| ! 3-&{%5.5 Allowable Max Torque 4-M6x10  4-p5 2RERETL 4-pOx6dpxes.2 Allowable Max Torgue )
/b5 < =5 CD@70 . / 4-MEx10cp
4 e Mjilﬁﬁ{kgf.mw.m} . ‘r_lﬁ ) B Wﬁiﬁﬂ(kgf.nm‘m) Y57
b PCD. Breaking Torque @ 4 e Breaking Torgue
@ FETREMER(pm/min) 2500 Y =2 4— FERTREWIH (rpm/min) 2500
Allowable Max Speed % )' Allowable Max Speed
3 # B (min-arc) 05 ! R (min-arc) 05
4-MSx10dp | Backlash < Backlash
=+
E&kg) 0.5 ] E(kg) 12
Waight Weight
HREEERT R iR Higan HRBEKRT g IR HiEER
Right Angle Reducer Specifications Ratio Motor Right Angle Reducer Specifications Ratio Motor
9 V1:{8ik@8 PCD45M3  |T1:453#05 PCD43.8 M3 6 V1{EfRG14 PCD7TOM4 | T1:25:£08 PCD66.67,M4
12 V2. {AfRD8 PCD46 M4  |T1:#E6 PCD43.8M3 8 V2 {ElfR@14 PCD7OM5 | T2:5108 PCD70,M4
;’ ERIR100W AC AIRIIE | & B4R S i 10 T3:#010 PCD70,M4
o288l G = 1200-400W AC fE)fR| & REEG0RIF it ik
210%e 30 25038 20
. — LTE
42 o o) 56 -
] o ) 3 0 2l ; AN
o = Fe) : TT T = | ] ﬁ:;ﬂ,g\ i 4-MBx10dp__ B0 pf" a 2| g_—ﬁ Inupt shaft Max-g14
a |d M - - gE' (PCD270) | wj o . N
f=] —_—— z 3= | | G
18 He "I_:I - i ';\i————il}[@mgi ; / g :%‘ it - -
- — = | ———
4 T O 5 <) o + 8 3 iL | i _—_____}@@%
| == | | | [ I
o e | g ol w Emalll he | P
| @s9on | THREE ~__#95k Model No. i AN o o 4-M5TAP/ ' G A N #sk Model No. |
#AADescription = 8x4-Max idp =i oS 2EE ST, - PCDe70 x‘;m bl 4% fDescription i
@10, FHEARAGG N i FHEAWE(GND |
E?I Allowable Max Torque ’ | Allowable Max Torgue i
Tl h dE{E (kg m/NLm) iR R (kgf.m/NL.m)
15 5 18
= —t Breaking Torque 40 Breaking Torque e
BETHRIEWHR(rpm/min) G FET S E i (rpm/min) s
= Allowable Max Speed Allowable Max Speed
PCDEA6 / "\ 4-g6.5x6dpxe4.3 # B (min-arc) 1 ! & Bi(min-arc)
=hicioap Backlash 2 7 Backlash &
E&(kg) 0.9 Hi(kg) 5
Weight PGD{’J?O;"I \\4—1\3‘3::6:1_[:;95.2 Weight
4-M6x10dp

—61— www.fht.tw —62— www.fht.tw



FlEEs 5l :Model Identification
90

£ —

HAEH R R bincd bEh:4ad
Right Angle Reducer Specifications Ratio
L2 ]
M HEH Inupt shaft MAX-@19
R T
6 N
) — : pasy
a4 | I \ L%
4-MBTAP
P.C.D.290 oy
4-MBTAP. =7 N EEOE
P.C.D.a105 Motor flangea? 0
090
. Q80 o 80
Ixd-MEx10dp
2 4-MEx12d y
‘ = i CTD).‘_G A 0'; 4-oB BAEFTL
—  [EreoEnmeg !
& “ \ﬁ; |y 20 ] * ﬂ ... |
ke, Lhes ﬁ -\_—_.—:L_ 8‘8
5 ik - s
\ Eh 138
! oot UL 2
" = P (= s g | R
=4 T Lar J2al]
a7 95 B, 37
178

- B
| |

Motor

H20

4-a11xBdpxa6. 6
1-ME TAP

¥ Model No.
BEFR AR (kgf.m/N.m) 12/120
746 (kgf.m/N.m) 32/320
EFFRIZEIE(m/min) 2500
& B&(min-arc) 0.5
Ei(kg) 36

U2 Bl Model Identification
—
| |

gy ——
|

18—

HEBR R RS A T BiEsmE
Right Angle Reducer Specifications Ratio Motor
Vi:{d RG24 PCD145M10| T1:47i#19 PCD98.4 M5
ve:{a k@24 PCD145M10
. EZ MR 1-1.5KW AC {Elfik EREHEseR ik BiE
ds
X
4-MBFCD a130(145)
@110 _ BI%E Model No.
Fﬂ‘ #EADescription
] Ll - '
| & %_ = ‘ FFRABEKGIMN.D) | 16160
4-M10 al @ b -1 xBdpxaB.5
- FCO 5145 Ly 8 = T~ _ | awioTaP
e s o B g = | T 1 46 (kaf.m/NLm) 45/450
2 ! '-ﬁ—'d‘ﬂ—-; % !
o 1 EIEEFE(mm/mi 2500
_t a +—1e-—1 ___I'_'EJ t : F ot BIETE(rpm/min)
B / * ! & B (min-arc) 05
b& Jﬂ' e ] =2 ?Ooé ’
i 52 7‘3
' 56 129 3™ 4-85
i 153 MR FIL i ¥

ZR€4e 559908 — B

— A

Motor

HAREWERT Hi& L
Right Angle Reducer Specifications Ratio
6
8
10
14
. oTodE 20
| ,m_a_iﬁuz
% 5 S 112
: e ‘ il I - TS I
T 73 = Ll |4 | |
fer - LE
g f 2 3 i: - =
\ =_ I |
| s (7 ! % H
h 0w - I)’I : IIlI
IxA-MEX10dp | g7monse | -8
@l
21,

—-63—- www.fht.tw

A 78l Inupt shaft MAX-g19

\4-211x8dpxo6.6
4-MEBTAP

| AT
A

V1:{afk@19 PCDI0OM5 |T1:Z3##014 PCD98.4, M5
V2:{7 /@13 PCD90,M6

=M 750W AC AR SIE | SRERSs6ELpiE NIE

ZR90S
B A EE (kgf. m/N.m) 12120
% e {E (kgf.m/N.m) 32/320
F¥BIEEHE (pm/min) 2500
¥ P (min-arc) 2
Ei(ka) 85

ZH —1208——

6 R V2
| |

%8k Model No. | e

HREEHRT g RiE L BigEn
Right Angle Reducer Specifications Ratio Motor
6 V1:ffED24 PCD145M10 | T1:#7i19 PCD98.4 M5
8 Va:{AikD24 PCD145M10
10
PRI & 1.1~-1.5KWAC AR &MERRseEE %iE
20
a110
@24
1 ]
b 3-{ f’l 2 1 ar :nugf_;_;_%f{] ;;x—e%
| : -
s | P b
1. B | @
&+ Py =5 =
= 1 | Il ey
1 11
m r
kS | ) 0
of | om0 | ‘a-sssmmmmn
176

2o

r; = q\‘:s_l.ﬂ@!w-f'

N

4-M10TAP

#fAADescription
B A (kgf m/N.m) 16/160
% 14 R (kgf.m/N.m) 45/450
EHEF R IE I (rpm/min) 2500
W BR(min—arc) 2
ER(ka) 155

—64— www.fht.tw



HOLLOW ROTARY ACTUATORS

HES: g 2 P

® T {E¥)n] i E

WEREAS TR A B FESHE TR, =AM H{E M.
olliEAE

e TFERD AR, BRERSNRENFE,

® Direct Mounting of Workpiece
The rotating table allows for direct mouning of workpiece
for added convenience in workpiece loading

® Convenient Wiring
The rotating table is a hollow structure desige making it
convenient for elec triv wiring or piping work

® TIEHRDDEEM #4258

HEEMEDNINT R B, HEES), EEEHNEE
MEREET, MEREHEMSFEEERKE, B
EH R E S EE R, #8D.D MotorB
K., AW, BEoRRBCEEZREAESTINZEZIR; M
D.D MotorifgEZTHER, BHHES, EBHEENA,
HEARBEAEGRREANH—KPIE, “hiirmg”
AW &z BB FE, Hi T ErEKR, AME8EX
IEF{ED.D Motorf A, FEHEM B0 BEETE LR
HEREREM =S,

ZK60-5-5A

ZK100-8

OEMBEES-RIEEMBER + 15sec
%= #§ 5 (Lost Motion)2min

BEVAES R ARRELEMNER, B8 SHERIITERER,
BT AEF . BE—AalREEEMHBES +15sec;

TMAE T EELMZEA 2min, AR ITEEERLEL.

EEEHE

-65- www.fhi.tw

ZK130-10

ZK200-10 ZK275-10

® HixiE4 - 5 TR 155
REMEHTEA L, TERRRRENTEARNBTE. —MiaE
ERT R SNNTHRTELETH, STNNBEEDREN
EWEERERE, SASENBTHOLE.

MZK ZINETEBL P EFEY, EAERZE, FURTREERE
RFERASRMERSN, AT RS RT.

EHFE

ATERBESREABOCR, CARITEEDITHIE.
T R AZKR TR AT AR

(LEHHENFEARX)
1 S BT R.
T BIBER 8 DL 2h3E R AG0 L T
2 REREAE.
3 RAREEER, WEBZKRINE R MR,

4 RIETE LR B M IR E .
EES b b O S
+ FEIRE) > R R TE (et i8] B SR W I AE A TR L i)
- InELEE ) X 2 < AR (E)
5 RERSFHEN:. ARRTALNEHEEN:. FHNEARE
[0 ~#r/min], EBWFERRKK-

Nz[r/min]l = oMty

B(t —t1) - L / E E\.
Nz @ #38[r/min] Bl E

0 : EMRAEC ]
N1 @ BEh & r/min]

t : AR IEA N AT
tr: O (W) RHEs] t

f iR AT B B9 R B BN <No <200[/minli S 4, WM

EEA , EAWLES.

6 RTHATNIHEMEEE

(Nz=N1)

& T
T TaN-ml= (/i + L)X 30 X =

g s R B R RS (g-m?
Jio: SRR kg mT

Nz : B3 [r/min]

N1 @ BEhiEE#r/min]

tro: i OiE) ME[s]

7 AHAERE. RERELHERBRSIEMGRESHEEERSE
FINEREEAN, BRUZEREERHNSE.

PEEET= (RWHEN-m]+IEHEN-m]) XZLRH
= (Tu+Ta) XS
RERMSHREESELE.

8 MM ERET REASERE - REMENEENM. ETEEEA,
HEEs | EEREFENE.

4 [N-m]

L #R[r/min]
(BRiRIEEE [kHz])

sk, SRR R R NEER, FRMTANHE

f[Hz]=;—s":

f o Bk Hz]
N : %% r/min]
Os . METFERTERED’ /step]

(Boai. BHEawEnstER %)
MFERR SR TE LA REN, BRTEOALE LG RSB
S, AR EEAER.

F [N] i

m: [kg]
1

| e 1

i
2Ll Y i e

i

a1 AL [N] Fs = F +m.Xg
R N-m] M=FxL

F1[N]

Fz [N]

maLkgl

LIm]

A= = A A A A A A A A Ao

) E N Fs = F: + m:Xg
AR (N-m) M= F:x(L +a)

(T a
7ZK-60 0.01
ZK-100 0.02
ZK-130 0.03
ZK-200 0.04
7K-275 0.05

(BEHaREIENERESEME)
FEMERN T2 B S, (BB,
B h e WA R R A AR E R R, 7
R TEEONLAE LOE K.
EEERERESWAAERR, BUROBAE,

mizEdube FIN E

FBEL[mm] i

=]

—— I FE ¢ B

N — T
I_l

R EN - m]=0.001 XFXL

-66— www.fht.tw




AUeE=5 2. Model Number Code 42 R ~F B Dimensions: Unit:mm

ZK — 60 — R —— 5 —— BA BS
| | (It EYSE & HiE42HEK-2A)
hEEHFE R g 1AL 32K Lk BaEEE
Hollow Rotating Table  Specifications Optional Ratio Motor
R: EEWENE | |V1: @808 PCD45, M3|T1: HED5 PCD43 8, M3 = o35 Bop &
F: BEEEAE | V2. AR08 PCD46, M4 |T2: H3ED6 PCD438, M3 - 220 |
5A: &1 HiE42H5K-2A ol 77 i &
EMISI00W ACHREE  SRISLDLERE | 1 BeEEeR
fioati VA LA & P
&3 Specifications : . o
41 %‘QF . | @ | |’O_ |
Emig ZK60 ZKB0R J5 TR m—i\-ﬁj : 4.7
WP R R LR o E heloml .,
P 3l
ﬁﬁ#ﬁiﬁl\l.m 5 - 4-04 51 128 T4 - -
BESS 15000HTrs
SLRTEErpm 200(#2 ) ZK60F-5
EEfEEarc-sec =15 =20
E {45 EEarc-min Eq <1 o
42 Motor flange @30
HEEHF T 47 EEmm =002 s
HEES EZ= O Emm =0.02 0 :
P40 H @ 9
- X | e
= 41 s X
P.S:EIEE{L: 1rpm=360° 1° =60'(arc-min) 1'=60"(arc-sec) v N ssdsmm 8 % A .3 R e iy
EERERTEERE. BEEME*x3.14159 +(360° x60'x 60") & HE \ ' 4 o8 © 6l_ o5 "4 \ .
L 404,51 tea T4 a1 " Inupt shatt 28
== St Py
iE‘L‘L’I% E*ﬁ x,ﬂ\l_l UER AR TE LR B (& LA L Bl 6 56
A8 T KE ¥ 4R 08 88 B DRl BEREEETE ZK60R-15
(EfREmE1:15)
=0.02mm =0.02mm =0.02mm
) 113
- . ; &= - o350
. ! ‘ i - @
i 5 ‘ ‘ |
! 151
'r 200mm 1 rg &1 N S i
\ ezt / | zraz o et
l l 1".\ .'-.‘ - 2-pd x 10dp pin ! | ] ] i;p’ i“;@\ upt s
"-,| ' 6_Md4 x Bdp TAF P.C.D. @27 ! ] I LP.C.D.;&AS
HAGEREOOOmm = IRRREIET 52?2 : ﬁ rﬁj}nﬁng hole
SMEFE BB (RS B REE AR ' 171 15k gh¥ RSN
$4Z19mm F4E19mm B ZKE05M% SCETEERS S5 1R L 12 A R ~F
= 1min =15sec =0.02mm

P.S. [RE! Sensor #Bf&(iEA) OMRON EE-SX672

—-67- www.fht.tw -68— www.fht.tw



FIgE=H 2. Model Number Code

/K —100 —— R

EHTEEERT K R
Hollow Rotating Table  Specifications Optional

8
|

L b
Ratio

B E18:2.5kg
Motor

R: EfEOEE
P: EIEREE

i #8 3 Specifications :

V1: {@RE@14 PCD70 M4 |T1:
V2, {#k®14 PCD70 M5 |T2:
T3:

= MiR#200~-400W ACHE IR

#1808 PCD66.67, M4
#1808 PCD70, M4
#5110 PCD70, M4

EERR60R G HERIE

EmAK ZK100 ZK100R ZK100P
MK (B R F 4R
BARFHEEN.m a5
BESS 20000Hrs
SRTEEpmM 200(#& )
el i b 8 16,24 24,32,40
BEiRl&Earc-sec <10 =20 <60
E i 4% FEarc-min <1 <1 <2
HERR T2 TFATREMM =0.02
EHMTEERSEmm <0.015
REEFHR IP40

P.S:EE&EfA: 1 rpm=360°

1° =60'(arc—min) 1'=60"(arc—sec)

EEREHEEGRE. BEEEx3.14159 + (360° x 60'x60")&bH{E

E‘fﬁﬂ%g ﬁiﬂ\lj BEFR A& T2 (% B2 LAE EE Bl e 58

88 T AT W AR 0

=0.005mm

-~

B E DR

=0.015mm

7’

BRREEETE

=0.02mm

5

i -
k- §

———

IMEEEEEMEE
HIZE50mm
=1min

-69- www.fht.tw

REFEMEE
AH4Z50mm
=10sec

300mm ]

|

B

J A 300mm

W EH10kghF
BI45ZK1 0040
=0.01mm

7 4 . . .
42 R ~F 8 Dimensions: Unit:mm
ZK 100
(MriEREEEr BITAESIE)

EiRERETL Motor mounting hole
- 188 - _spas_ A-M5x106pTAP P.CD. 570
* 115 856 x 2.5dp i -0 40 | 40 ;‘f
= & g 2 N
"I [P
{ T 7 d W |
| i = ] 2
ey 8 J et ;—'—( }‘@ E s
by & 3. 8 ) ¥, 1
tve"/ AR R, T ) | PR
g Ei.q L --J" | % By 1 / ll \\.
| ! é-ﬁnﬁx&dpxms ! Atigiaxerdp / " JEiE /B Motor flange @50

" — 2-25x 10dp pin
* 6-M5 x 10dp TAP P.C.D. @80

ZK 100R a0 _[J 40
(EREm1:16) [
163.54 _ 1l
95000 ):‘ {
£22 NN
56 % 2.5dp = |
1
‘ R L — E
° ] —H Y HE erlawg @50
% R8 e 8 8 72.35 i
' | i L= ‘
=iy o ZRE0 @
J_. ¥ I ! 2 %i;};ﬁa%]'? 8 2
el e L1 3 d | A
\ "II Ejég_x‘%:éfp’::dpmﬁ-ﬁ Tda uceg, . | ) 1. Inupt shal o114
L §-M5 x 10dp TAP P.C.D. 280 - 9 -
| 113.54 | -FEEIETL
' Matar mounting hale
4-M5 x 10dp TAP
P.C.D. #70
ZK 100P
(Mi1T BOERE L 24,32,40)
135 _ 05 ~0.00
50 ' 229
s | 856 x 2.5dp il 52.35 FEi%E 7L Motar mounting hala
vI o e e - i i E g i 40 | a0 4-M5 x 10dp TAP P.C.D. a70
o e l I l i
(M AN s 8 1% T o
LN / i 72.35
8] N 1 8 | ( 8 \nw
S Ao | Inupt shaft #14
g 75 I S T
Fis > P =i y [BOFTER i i '
NG | . s | - 4-p9.5x6dp x 85.5 ® z .
H——". Q-éﬁoiﬁ pin BB Motor flange 850

" 6-M5 x 10dp TAP P.C.D. @80

KRR BE AR T
P.S: JRE Sensor F&(ER) OMRON EE-SX672
-70- www.fht.tw



RUsE=H 5. Model Number Code Unit:mm

/K —130 — R

M2 R <t [El Dimensions:

—10 — V2

ZK 130 '
‘ | ‘ ‘ ‘ Eﬁn L= v -
. — ! . 18 Fe Al HERS

HEHEERY g %5 WL LE miEEn 845k ( R BITHRSIE)

Hollow Rotating Table  Specifications Optional Ratio Motor : = 162
R: HA®EEE | | V1. {SBO14 PCD70 M4| T1: 1208 PCDB6.67, M4 i” 5] p— L e g e [
P: HEHEE V2. {ffR@14 PCD70 M5 | T2: #iE@8 PCD70, M4 > N an

T3: #i#EG10 PCD70, M4 - & &

£ M@IE200-400W ACIEIRE  HRMKEC0R S i Kig ! [ — 8 | .
@ g alim
i ) \.ql_l ; g é _— _.._.C.._ i <
" . " a | 2 A
%E#gi% SpeCIfICatIOﬂS " o I + [l L] 2 [ W %ﬂ%h@ﬂﬁﬂﬂ?dﬁ
— . : ; © - 9885 | "
ST \ \J\'\,"L 40105 x 7px o511 ¢ TJ | -
AR ZK130 ZK130R ZK130P - —— -2-;352x10£pin FEi2 B Motor flange 250 — !_Eﬁﬁilammrmunﬁngma
Ebs EE R 144 % Tl & ' 6-M5 x 10dp TAP P.C.D. 2105 Sl 2:70
BRTEIAEN.mM 45
RESH 20000Hrs ZK 130R N ot T
S EF M 200(HATH) (Efm#EE1:20) A1 ‘%‘;i ol
— | i
R b 10 20,30 30,40,50 : E N~
9120239:;31 (/—\\ If{/ I I ] gl g
Bt Earc-sec <10 <20 <60 ——— i .- \T/ a\\\i—/&. &
] S e ! ==
{4 B arc-min <1 <1 <2 S, L 43 \4J | ﬂt;'—J 8
W F=FTHEmMm <0.02 ' ( | Fizom
2 m|?2 3 Mtaiorﬂmgeqw
HEPS 2 Bl Emm <0.015 ] O%- " g¢ o/
Res — 7 Vam— Fe AR
o : : Sl ks 1 2 Right angie EI - 1‘.—I— .:IS Sk
P.S:EIEBA. 1 rpm=360° 1° =60'(arc-min) 1'=60"(arc-sec) !19 "\\\92 “—éi-gu510fx7dpxﬂ$5 Ui { inupt shatt g1
EFSE RS EARE. BEEMEx3.14150+ (360" x60'x 60") % KK B i T o r—
Momrm:mmhghola
s . 38 e
E‘L‘L’I%E*ﬁ;ﬂu MR RS 2 {3 5 12 LA B Bl A B
88 T KE W AR 0E 8B E R BEREREEEFTE ZK 'I_SOP‘
(P97 EmESEEEE 30,40,50)
=0.005mm =0.015mm =0.02mm
2 # - 2p
: ” ' @ I
| / | @
B I 300mm Jl A1 ; i
| | 19 R \_‘\- 4o105xTpxoes 2 ]6 \[ o o __
\ Cogsy ?gc%t_r:ﬁn SO Molor flangs e50 |.-f_§ﬁ$;"°‘“’"mm'"g hola
' B-M5 x 10dp TAP P.C.D. 8105 TAP P.C.D. 270
/ R EBEI00mm
MEEEBE A REEAMIEE I 1 2 71 15kgF
E1E60mm F1E60mm IS ZK 1304 AR SE I L E i kT R <
=< 1min =10sec =0.01mm

P.S: JEB} Sensor #H & (i%E) OMRON EE-SX672

71— www.fht.tw 72— www.fht.tw



FleE=21 . Model Number Code

/K —200—— R —10 — V2
| | |

EHFEZRT g gt {LTH RLIE L BiEmn 8115k
Hollow Rotating Table  Specifications Optional Ratio Motor el
| R: ERAWEHSE | V1i: {BRG19 PCDO0 M5 |T1: $1&014 PCDI8.4, M5
P: EHRHEi# V2: fARG19 PCDY0 M6

ERRR750W ACTEIIRBIE HhEecE S ERE

i #& 3 Specifications :

AR ZK200 ZK200R ZK200P
NEFTEE A [El % F sh&
AFTIEN.m 80
HERS 20000Hrs
SeRFEiErpm 200(#& )
LB LE 10 20,30 30,40,50
HBEiE 5 Earc-sec =10 =20 =60
7E L B arc—-min <1 <1 =2
W FEEFITEMM =0.02
I FE=RE.OEmm =0.015
RELER IP40

PS:EFEf: 1 rpm=360" 1° =60'(arc-min) 1'=60"(arc-sec)
EFZREHEELEGRE: BEEE x3.14159 = (360° x60'x60") i E

E‘fﬁﬂ%g ﬁiﬂ\lj BEFR A& T2 (% B2 LAE EE Bl e 58

88 T AT W AR 0 B E R BEREEETE

=0.005mm =0.015mm =0.02mm

- o, e a ,t T

P | 300mm 1

|

I I q

\ = 4 H{ZEREE300mm
SMEEEREAMEE " REESE [ 1 1 E 7115kgF
£ £Z100mm H£4Z100mm HI45ZK2009M&

=1min =10sec =0.01mm

-73— www.fht.tw

SM2 R=<F[& Dimensions:

ZK 200

(PHEHERER] B1TAR S IBIE) ’

Unit:mm

FEiEGE Motor flangea7o
g o foty | . _ e e [es,
- | < | ]
| [ g |
—{—18 8|8 J L ; | g_? ASU R
g g 8 3 __(.'\ _'_} O S A i
T ! = ; Il [ § i t& = inupt shaft @19
| . | e il
N T i 1 o8 - o 06| | @'/"7_ 5
aof 140" \ ‘\L 4-817 x 9.5dp x ©11 = . . ']
Lo v, —2-e8pin_ FSEEETL Motor mounting hole | - FEEEEFL. Motor mounting hole
\. 2-a5 x 10dp pin 4-MB x 15dp —  4-M6 x 15dp
'~ 6-M8 x 12dp TAP P.C.D. @170 TAPP.C.D. 0105 TAP P.C.D. 090
1025
. 18 s
i _...r...ﬁ?_...]
2 re ] (%N
ZK 200R I Q_‘ i
BEAMME1:20 - ==
( ) o {7 5
8 -
255 282.5 et
100 T P o Fy . & By
151 20 '
I e - ' SEERT

=i fP:‘
b

/’T

|

Motor mounting hole
4-M6 x 15dp TAP P.C.D. @80

\ R
af;m | éig gl g )
o8 1 o
o™ v
=L AN ¥ : A
il 7, amREs |3 /8
\@% 8/ 5 Rigitengie| || AT o
i o = [ 7] il ’ %> Inupt shaft 218
20 AR P'\.\-r%—m_?xg.!sdpxﬁﬂ L x ;
U s, el psen
' 6-NB x 12dp TAF P.G.D. #4170 182:8 Mokar RanceeTD
EiEEETL
Motor mounting hole
4-M6 x 15dp TAP P.C.D. @105
ZK 200P
(Pi4T 2B M EE 30,40,50)
255
g OO z EiZz E Molor Rangea70
15| . 2190802 _ 028
| - 18__ 82 82 I 85
Ll 3  — 40 [ | |
?/‘//" e\ [ | ‘ r 3 I
f,’ (f&\ \ by -.EI
| IR 1 388 8 2 E ‘ e
B R % I g 8
sl I\ / @ , O S A
i b / i i 8 T 7 - _,_} Inupt shaft @19
NE \‘“‘"" - /’A{ : 1 | | A v
Y ~ —
!30 140\ |\ 417 x05dpx a1 2 AT - 1] !
& 2%2;?3 Odq:lunpin b 5 ?ﬁﬁ?sla Molor mounting hole | —ﬁ?}ﬁﬂ Moter mounting hole
"~ B-M8 x 12dp TAP P.C.D, 8170 A‘ ’- T;F' P.C.D.i;‘loﬁ TAP p_clgﬁgo

R REREETMR T
P.S: [FBf Sensor HE(GER) OMRON EE-SX672

74— www.fht.tw



AIEE= 5. Model Number Code

ZK

]

— 278 ——

R
|

R [

V2

T E R i ST i oK L B aER &= 16kg
Hollow Rotating Table  Specifications Optional Ratio Motor
R: EHfA#EEE V1i: fAARO19 PCDI0 M5 | T1: #3014 PCD98.4, M5
P: il v2: faf@19 PCDO0 M6
HRERET50W ACTHR EFER868L B S i
i #& 3 Specifications :
FEmILR ZK275 ZK275R ZK275P
HE48 T 2= hhK [ 35 F B
BFHEIEN.m 80
eSS 20000Hrs
FLRFIgEpm 200(#&T)
EEEE 10 20,30 30,40,50
B84 Earc-sec <10 =20 =60
E (L #E Earc-min <1 <1 <2
EEHTEEFTEMM =0.02
EEFERCEmm <0.015
RiEER IP40

P.S:EIFES: 1 rpm=360°

FEALFEERR wneemmme g

8 T e 9 4R 0R

=0.005mm

-~

1 =60'(arc-min) 1'=60"(arc—sec)
EESEHEEESEE, BmEfx3.14159+(360° x60'x60")&FHE

I

BmE A

=0.015mm

BEAEEETE
=0.02mm

e o g-pres R

: |

MBI E
24F100mm
=1min

-75—- www.fht.tw

’ Rl
A4ZE100mm
=10sec

[ 300mm |

|

8

AR EE300mm

1518 130kghF

RIS ZK2755M&:
=0.01mm

Ap 2 R ~F Bl Dimensions:

ZK 275

(PR A B 1T % |iF)

Unit

mm

255 -
o100 nen-0.02 EiZ M EMotor flange70
I """_1_5" —4—&F17 x 9.5dp x @11 -
hx* / r = 18 _ &2
L : ==Y - I | (B
A o 9 5 i ™
Al SEEL I WA/ PP
ol v — ! e
S| o : { - M ¥ | Inupt shafie13
N, g 157.5 = , .
* . q Y = { ) 5‘1-‘ { =¥
30 140 —2-p8 : :
-1t \L\ 2_35 xp":w i .Ei&%s?lamhmr mounting hele | ﬁ?st.‘ﬂomrmmung hole
6-M8 x 12dp TAP P.C.D. 2170 TAP P.C.D. 2105 TAP P.G.D. 890
102.5
ZK 275R peihe @ TR O
o m] A EZ%Y
(B F#8 7 1:20) ] KNI
8
I / \ m S8
. " \ /N
6-M8 x 12dp TAP P.C.D. 2170 i - 2 - /_J
~d-e17 x 9.5dp x &1 St T_ : + #
i ~T5 | & @GJ ® *
| LI | -‘
b el EEEERL
| o Motor mounting hola
|8 L 1 4-M6 x 15dp TAP P.C.D. a0
; - g 157.5 90
- — | 1 ey
g7 = i\ 8 e T e
. ~i §! Right angle g! J|l i t($ ! g.
| | reducer o 7 é
! 1 : Y "0 O~ ¥ inupt shett 519
25 F
182.5 —RiEOE
Motor flangea70
ﬁfﬂﬂﬁ hal
O mountin =]
4-M6 x 15dp TAP P.C.D. 9105
ZK 275P
(Bft 17 2 RLEFEE EE 30,40,50)
#1908
ME Motor flangea?o
4-e17 x8.5dp x 911 75 1025 o ;H’E' B Motor fenges™
NI_ e e w8 | e | [es
P 1 ] w[ A 9%\ 1 i
o 4 _"J Vi‘w— 8.
e B NS
. 888 o IB‘ {\ [ ",\35
\\ O] A
g ! 8i 157.3 5 _/ &w 1 | Inupt shaft g19
, i s0f7 Rl A & I 3;+
% \'—is ~ L] I O =] N2 !
30 1404\ _ | 2-@8pin i EEREEE L Motor mounting hols"‘l-.ﬂyiﬁﬁﬂ. Motor mounting hole
¥ 2-a5 x 10dp pi @ 0 A
L. 6-M8 x 12d:TAgDFEIED. a0 | ]/ \[ gt Ein s T o

KRTEEIF AR Bt R IE R R~

P.S: R Sensor #&(1%2%) OMRON EE-SX672

TAP P.C.D. 8105

TAP P.C.D. @80

-76— www.fht.tw



HOLLOW ROTATING TAB
= 10 IE R R

DG

KOEFHRR

. e S
EfEL | . EENELSEE
SRR R

ElEEES
REENMBE A E15sec

BaiTRAER
ERESEREEY (GRS

Al S ER ST A F3B [8] 7€ {if
A\ P A 224 ] P

EMBER RS |/

-

f

4 REMXREAN 4minﬁ_&__,..-"‘”

=% (Lost Motion) #2min /

PEREN(EEERE

OEREHA~EBiRiTRAER

RERHEEs L, TERRESENTHESRNETE. —RiEE
EEEEHREIATHETEMETH, SZETHEIREN
MmEEREAR, SREENMTHNLE.

MDG #IEATBEFEFEY, ERTERRE, LR THRAERE
R SRR B RS, thAT SR R SRR

-
T2

O XNEFERE LS~ FEGHEXSEE

BRA—RE G MR HESERNER, SUTAORPS
L (RF) Bigit. ERTRASHFNBEESEESEE, EiRFE
HEAEE.

= 3
Ll
B ER ,IE_
EERE |,
KEEE 1
o
= 'P:F._..-I:I
Byl + WS4 DG #:5 ]
(832811 + 30) (— ) L =
L UF

-77- www.fht.tw

AR R iR

2ERtmm

DG60 60

DG85R as

DG130R 130

il : DG130REVIFS
i
EEMEEE
@A .
(DG60) v iia

B NN NS

R R

O 25 it F-aiigit SR HRWHE 557

ATHEREARIERET, FLRAEHEFEET RAIEESEE
 (GEMEH).

EHPEARTHRERANEENTATH. TARAPEERRMERE
prmanifit. GlHE. SEARBEHRESTE .

(DG130R HIfERES. W REH)

feRERHRRAR ESARE R R

OENHERE ~REEMME S+ 15sec

=¥ #H (Lost Motion ) 2min
RIENAES R AERELAENES, BB SRBEYHER SR,
EMEHsAeaEE. BE—FEaNESEEMABEE S *15sec;
MMAE A EEMANGZER 2min, AR TEEESMEN.

@ SRR
(DG85R. DG130R)
HEEE
Vi . I
| 1l
| |
T y | u T D
ELEFHF | g
i
' M
B
.

78— www.fht.tw




IR

B  DG-62 DG-85 DG-130 | DG-200

L 7 {e] R B W 100W 200-400W 200-400W 750-1KW
AR Nm 35 20 20 65
HEigE kgm’ 2480x 10" 2498x 10" 9472x10° 93581x 10"
RFEE rpm 200 200 200 200
WL 1/5 1/5 110 1/10
EEE sec <15 <15 <15 <15
REEMEE sec +10 +5 +5 +5
BRHENRE kgf 20 200 250 500
SrriEEE Nm 10 60 60 200
REEELGE um +5 +2 +2 +2
R TFERLE mm +0.01 +0.01 +0.01 +0.01
ER kg 2.2 3 5.5 14
DG-62
63
z 32 S 311:0.3 N
5 62 (4)24.5
10 40012 (6)”3"'305“8'_
o (b PN P.C.D.038
| (2)253°* PINX7L
. P.C.D.&136 -
o I - w3 g
A I o J 1 r‘%

@30
28

-79- www.fht.tw

75.5
L 40 _, 355403
85 (6)M4xP0.7x6L
1 <225, (4)26.5 7810.1 P.C.D.ﬂfsz.s
05 (4)25:2 pIN . 70202 (2)@5:5"" PINxBL
g | / PC.D.B62.5
_'i.‘ _ g /
d W] - o
__——-I.i
335 =
-l - 1 B 52 =] | P PR
L. 55 H %18 S % ok
I (=]
: - :
RSP - 2 [ =
o| = =
S _: _—_J' — (2)M2.5%P0.45%4L i 1
) —
(2)M2.5xP0.45x4L _~|
L]
DG-130 B
T
130
40 703 - - (BIMExPO.BxEL
22 {4y = - P.C.D.&104
_—
I 2)@55°"  PIN=BL
12 | @@557PIN | | oz
‘_.i]ﬁ = )
I
M
o= o % 8 s
88 - a
335, I @ & i
55 I
i T
L
8 §E.‘E\:.:“ T '
Y et
L (2)M2.5xP0.A5x4L
1
>
. 58 _ _ 60+0.3_ 200 (B)MExP1%10L
5 P.C.D.@155
15 (4211 170 (2)@83° PINX8L
25, niL LN /~ PCD.@155
] 25 / [
- (2284 PINX8L ]
i P.C.D.2180
B e (A7)
I
Jalesl ) sl .z
4}-—-3@; g 2 - 8 8
50, SES RS g
i o
S .._I g
!
|| I Y
== ls) —
=B === (2)M2.5xP0.45%4L '
— (2)M2.5xP0.45x4L ~H
3

H4
20

-80- www.fht.tw



RERNTESRR Cautions for storage (1| Z%HE Mounting procedure to the motor
EEW RS A RS, SN TSR, Whenle\rertemporarily keeping the product, keep the following EREE EROBEN. EEEE, 5 BT8R,

directions: Wipe off anti-rust agent and oil on the motor shaft. Remove the plug

1.Keep in a clean and dry place. 5
1 HEFRRRRASIETRE, 2.Whenever storing outdoors or in a humid place, put in a '
2 BMAEIIEREAB T RER, EEANEATAEREER box so that it does not directly contact rain or external air ; .

8%, BETFHEMEERGEDEE, £FEEH). and cover with a vinyl sheet(Take a measure to prevent ARy -
rust.) ;b' _ F’ )
EBfTRAMNEREIR Cautions for operation

BRI - When the radiicer I deliverad toyotii s RN BRI, HRRRE HBEREERBEFBHONS, EREROBERER

Wh n d deli o h ved 3 Eﬁﬂgitm{]a ﬂiﬂu:t ﬁﬁﬁﬂﬂ!ﬂﬂt-ﬁ)\m)\:m. Enﬁﬁﬂ‘iﬂﬁ

en the product delivered, please con rm that you receive Turn the input shaft until the cap screw is seen. Make AEh, EHESEEN AT SR EENEET, BiEE

the exact same model you have ordered. 4§ Wss s s o Lk BHEREREREGE (B2F1)
- LR B A RERD Bl A B G R T BT IS EL SRR A Please wipe out the input and output shaft of the reducer : : Please place reducer vertically on the flat surface so the
RS, AWM EEEEEN, WREER, Wwhich is covered by anti-corrosive oil. MBEWME, REGENER. motor mounting part faces up. Carefully insert the motor
A BT MNE RIS, SRS, # Please remove the rubber cap on the input shaft before you In case the bushing has been attached, Please fix it to shaft into the input shaft. (It should be inserted smoothly)
sOgE M b B EsRh(hEE) . KB RERRER, wipe the shafts.

the reducer as the drawing below. Make sure the motor flange is perfectly fit to the reducer's
flange. Tighten the motor installing bolts to the proper
torque.(See tablet)

# Lubricant(grease) is already lled in the reducer.
It is available as it is.

Zk, RE Fixation & installation “
- Avoid use in a place where rain or water drops directly. 4
A EEEMEWEUKEISTER . :
] _ In case of use outdoors or in a place where dust and
?g%%”ﬂﬁ%g‘ KRR R, WRLRA water drops, consult in advance. L
%ﬁﬁﬁfﬁo"c~40°c Install at 0°C™40C of surrounding temperature.
e g ; In case of use at temperature out of the above—mentioned
£§§E§¥§§E§§§g§f$§ggﬁk range, contact the headguarters and consult on this.
A S e o o ot g ot e ! ¢ Firmly x with a bolt onto a solid stand without vibration. J
2 Install in consideration of convenience in repair and inspection.
BATRARREERIR Cautions prior to starting the operation
Reducer can be used soon after arrival, since it has already R F RN EEAEER FERE (8% 1) LEARIRR, TETR
FARAERHER SRR TRERNEEE, IEETEREHRA. been lled out with lubrication. Tighten the clamping bolt of the input shaft with torque Reinstall thé Iu ?heo e, 57
VIRIEITE, FECTERENIL AN A RE, BRI mERT, At initial operation, check the rotating direction of the wrench to the proper torque.(See tablel) plug. p 3

output shaft and then gradually apply load.

AT AEETIE Cautions during operation
EEIEAEBAT. Avoid overload. Ensure that input speed shall not be the
AR EEERE R, number of revolutions beyond the speci cation. 3
BETIERE, HEEETIAETRE, In the following cases, stop the operation and check the =¥
- BERES EFH following points:
- RAHBRANSER + If temperature sharply increases
- iR AR B AR - If an abnormal noise appears sharply
+ If the number of revolutions becomes unstable sharply
#1 Tablet F2 Table 2
B 5 EgEe e R - RERE
Rt Clamping bolt Bolt size Tightening torgue
. \ Bolt size Nm kgfm Nm kgfm Nm kgfm
. M3 11 0.11 1.9 0.18 M3 19 0.18
M4 25 0.26 43 0.44 M4 33 044
M5 8.7 0.89
- REEEMR T ER R, M5 5.1 0.52 87 0.89 NG T 15
BT AR A E RS REA, M2 i o8 > 1= M8 3% 37
1) AR AR ‘ : M10 7 7.2
NFERRKCEBGEEAENGUBEES LR T, REUATHEBIHHA, 10 2 48 71 72 M12 125 13
ERERMNKE, BT EMNASEXERARENESPESEERNBERE. M12 72 73 125 13 M16 310 32
HETHARENSFENES, M16 134 14 - = M20 603 62
\_ . EIERE M ¢ REE1200 E

# Recommended bolt: Strength 12.9

-81- www.fht.tw -82—- www.fht.tw



	1
	页 1

	2
	页 1

	3
	页 1

	4
	页 1

	5
	页 1

	6
	页 1

	7
	页 1

	8
	页 1

	9
	页 1

	10
	页 1

	11
	页 1

	12
	页 1

	13
	页 1

	14
	页 1

	15
	页 1

	16
	页 1

	17
	页 1

	18
	页 1

	19
	页 1

	20
	页 1

	21
	页 1

	22
	页 1

	23
	页 1

	24
	页 1

	25
	页 1

	26
	页 1

	27
	页 1

	28
	页 1

	29
	页 1

	30
	页 1

	31
	页 1

	32
	页 1

	33
	页 1

	34
	页 1

	35
	页 1

	36
	页 1

	37
	页 1

	38
	页 1

	39
	页 1

	40
	页 1

	41
	页 1

	42
	页 1

	43
	页 1

	44
	页 1


